YEAR : 1999 7. 1 -[S-{2+(-5+6-2)2]} is equal to
1 ~[5-{2+(-5+6-2)2) ® TR ¥ ;
Simplify : W& &, 1 f:;s—me :E'af Q0 (d-

24+ 3 J13 = 3.605 (approximately)
4

5 130 = 11.40 (approzimately)
find the value of :

@ 1= b 12 1.3 ++/1300 + V0.013
17 7 el fa

J13 = 3.605 [@mm
V130 = 11.40 {Fmm
J1.3 + 1300 + J0.013 1 7 W =¥

{a) 36.164 (b 36.304
[c) 37.304 {d) 37.1
9, On aimpljﬁcation of

21
d 1—

.6
© 17 17

2

Simplify ; @ & 1+
1+ ——
1+-—

(2.644)2 - (2.356)2
0.288

o oftonw 7 B2

@1 (4

LR A
(aJ4 lb}7 {cis 117
Evaluate ;0% Ht
913-5|-5|4]+10

-3(5)-2x4+2

{d) 6

34567)2—(3.4&?3]2
8 D ————1
@ — B —— 0003%
10 17 L2 R ftoms == g 2
16 4 ®)7 () 6.81 (d) 7.1
© ——5 @ =
(0‘03)2 - (om)2 -
‘[4- {3-{3“3'6”] Y equal e 0.03 -0.01
0.09 T Fiym w7 ¢ ?

5 =[4- [3-(3-3-6}}] ® W % ‘%
@ 0.3 (b) 0.03 (c) 0.003 (d) 3.0

@10 (b6 (o4
13. Find the value of

10, Simp

value of

A AR ?

{a) 0.02 (b) 0.004

{c) 0.4 {d) 0.04
What is the square root of .09

Evaluate U0 Ht

~(4-6)° _3(_2)+|_6|

18-9+3x5

g :
{ﬁ) lbl { (4 2

Simp!

3
(073)" + [0.75 + (0.75)2 + 1] =1
1-.75

A T = ? )
@+ [®3 (92 41

1 029 foB1 2
. T = is equial to 1 % TR #2
‘10.25 ’Jo.se s

9
7
(a) 10 (b} 2

B o B B B AT

SIMPLIFICATION

o B A B B e A o e e A /

16.

17.

19.

20.

21,

22,

23.

Wizard of Maths - Rakesh Yadav Sir

////AV////A'/////I///A//////J/////f//////////l//////////

\\\\\\\\\\

If fx+\441=0.02, then value of
x is:
S + Ja41 =0.02, @ xF TH T
F?
(a} 1.64 {b) 2.64
(c) 1.764 {d) 0.1764
Find the v of
F1 A T B2

(a} (c) 4 {d} -
If the squgre root of 841 is 29, then
0.0 1 is equal to :

841% Tige 20 %, @ 0.00000841

R &7

a) 0.029 {b) 0.0029
¢} 0.00029 {d) 0.29

The square root of a positive num-
ber less than 100 lies between :

100 ¥ F9 & YIOF Sem % Tigm W
" W A fras dtw w2

{a) 0 and 1000  (b) O and 10

{c} - 10 and 10 {d) - 100 and 100

By which smallest number should
5808 be multiplied so that it be-

comes a perfect square ?

5808 ¥\ 51 ~Aw Wem § on fFm sy
FymdsEw TR ?
@2 M7 (©@11 (@3

8 100
%;6"'1'5* 25 s equal to :H

e

b 1.’:3 7 d 4
(b P ] 100 d 7
By which smallest number 1323
must be multiplied, so that it be-
comes a perfect cube ?

ta) 7

1323 %t faw =em e @ Jon fear s

o de v i W 2

@2 Mm3 ©3 @7
YEAR : 2000

On simplification 3034-(1002 <+
20.04} is equal to

3034 (1002 +20.04) W ¥A feeh | ¥
(a) 3029 (b} 2984

(c) 2993 (d) 2543 -

When simplified, the expression

(100)% ><(0-°°1)% ‘(°'°°15)% o +[§J-l

is equal to : ¥ WH R HE ?

@16 08 (1.0 (o




24,

25,

26.

27.

28.

29,

30.

31.

32,

[1 11 1]‘ B
When 2 45 6 is divided by

E 5+3 7

5 95 18 , the result is :
(1 1,11 aﬁ

2 4 5 6 =

iR 4 wm?
1 1 1 3

5— 2— 3-— 3—
£ 10 (b) 18 ] P (d) To
(J’E~Jﬁ+\fl_2) is equal to:F HA &
(a) Vo ®) V3 /2
(© v2/3 @ V6 /2

Jeo - iz
The value of & HH [
45 -

Y

T S S
(a} 4 L] 4 ic) 3 (d) 9
The square root of {272°-128?) is :

(2722-128%) 1 g T FOA?

(a) 256 {(b) 200 (c) 240 (d) 144
The digit at the unit’s place in the
square root of 15876 is :

15876 % A ¥ v e 1 A 2 ?
@8 " (b6 (4 d 2

If the sum of two numbers is 22
and the sum of their squares is 404,
then the product of the numbers is:

o 3t vl =1 M2 d, s I W

W 404 ¥, A T FEmSH W
w7

(a} 40 (b 44 ) 80  (d}
One-third of the square root
which number is 0.001

fra ve & ahm «
TR E?

of the above

ich single digit
ect square ?
A M fem s T
(c) 8 7
72.9
i LT W
04008 is equal to L3
(a) 0.5625 b} 5.625
{c) 182 (d) 13.6

33.

34.

35.

36.

37.

Q\

39,

(5.5P—{4.5)° is equal to : & ¥ & ?
(&) 1 (b} 75

() 74.25 (d) 75.25

Which of the following is a perfect
square as well as a cube ?

T ¥ w1 W vem ww ol =l o 2 sk
TP TR AR ?
fa) 81 (b} 125 (c) 343 (d) 64

When the square of a natural num-
ber subtracted from its cube, the re-
sult is 48. Find the number:

T WEd U W oA Ol den o W 8
W W A 48 WG o ¥, & Wew
w?

a) 8 by & {05 {d} 4
YEAR : 2002
1 17
The value of 1 + E & HH

7
@ 2, 2x+ — W
4
1+
1
1+ ——
1
1+—
2
oH 9 #H 7
(al3 (4 (05 (d) 6

Simplify 9% ®% -1—9- + !
43

19
® 13

Simplify; T #

O I O N T T T I
8! fat, 41! (lj
2|14 |14 20236

1 1 2
4= (g 9= =
(b P (c) 5 (d) 9

43 q 38
@l () 19 (d) 43

1
4=
(a) 5
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40. If EQ: i , then the value of * is:
* 1
12—
2
s ﬁz;l A mAmTa R 2
*
12—
2
25 b ¢ 4 d) 25
la}2 {}25 © (d)

41. The value of (0.008x0.01 x0.072 +
(0.12x0.004) F AR Fq F ?
(@) 1.2 (b OPlQ {c) 0.012 (d) 1.02
o A

3
42, The S —— R
5 2 1
-+~ of 1—
4
FEH
“

1 2
2 {b} 1 {CJ > (d] 2
@md the sum of the followmg
1 1 1 1
ot —t — 4

96122030425672
fAfefas =1 g9 @ + ;

— ¢ ——

1 1
(@ > B o (9 P (1
44. The value of 25-5]|2+3(2-2(5-
3)+5)-10]+4 T TH ¥ ¥?
(a5 by 23.25
{c) 23.75 {d) 25
45. Find the value of * in the following

1
q 3 9m
6

{b} 0.6

{c} 0.006 d 6

46. H X~

5
47. Thevalueof ———— x——
7 1 1
1—- of 1- 3- 4
g8 3 2

& HA = WY

{b) 0.05 (o) 1

() 2

1
1-
(a) >




48,

49.

50.

51.

52,

53.

54.

55.

56.

57. The square root of 65.
Sl 0 L L 0.342 x 0.684
_ = - - M . x L),
20 |5 |a'l6 3 2)|iseaualto -1 e &2
0.000342 x 0000171
B R 22 (a) 250 {b) 2500
oo bl 9 “ 9 (¢} 2000 {d) 4000 66,
{ ¢ 20 10 58. 0.00060516 is equal to
0.83+7.5 Jo. *® T 22
— """ s equal to ® TR ©? 0.00060516
2.321 - 0.098 (a) 0.0246 {b) 0.00246
(@ 0.6 b) 0.1 {c) 0.246 {d) 0.000246
{c) 0.06 (d) 0.05
For what value of *, statement 9.5x0.085
59, The squareroot of —————————
'(*) (*)'] 0.017 = 0.019
| 21 E = 1 is correct ? ﬂ"i‘l?l?:lﬁiﬁl
fa) 0.5 (M5 (¢ 50 (d) 500
« % fFn 99 % fag s 60. Find the value of
“.0 248 + 52 + Y144 T AT
21 10| =1 67.
- - @-16 {b) +16 (c) 16  (d) 16.2 :
,[1?1183333 R g?’ 147(c) 63 (d) 21 61. If {102)? = 10404 then, the value of,
3 3 5 V104.04 +V1.0404 + ¥0.010404 8
I (0.1)" +(0.01)" +(0.009) equal to oy
2 3 7 S
0.01) +{0.001}) +{0.0009 -
V( )" +(0.001)"+( ) afs (102)2 = 10404 ¥, o
R ¥ g2 _
{@) 10° () 10 fc) 0.1 (d) 0.01 J104.04+J1.04%+ {0.010404
The vahue of LERCTiC Lk P 68.
5 5 5 {a) 0.306 + (b}, 0.6306
I (0.03)" +(0.21)" + (0.065) fc} 11.122 w4} 111.322
3 ) 7
V(o.oos) +(0.021)" +(0.0065) 62. I /4096 = ¢4» then the value of
bkl Ja0. 964#%096 + J0.004096 *
@) 0.1 (b} 10 (g 102 (d) 10°
The sum of 0. gw 96 up to two place of
Jo.01+ J0.81 + V121 + 0.0009 4, deciriuls is :
w1 4 T &7 Ve 3 +
() 21 (b) 213 (c) 2.03 (d) 2.11 v V4096 =64 €. T 44096
The value of . sy . V04006 * 0.004096  *
2 2 i .
(6.1)" +(61.1) +(611. 1)9'- ; * J0.00004096 1 HF M # & AH
]
(0.61)% + (6.11)" + (61. 11) ¥ wmRm 69.
. (a) 7.09 (b) 7.10 (¢} 7.11 {d) 7.12
HAA T2 63. Three fifth of the square of a cer-
a) 0.1 (b 1.1 d} 100 tain number is 126.15, What is the
The value of \jo ’ £ is equal number?
" RN et i # 43
P AN, ksl W — 9 126.152,
. Frte T 22 5
(2) 0.21 %4(b) 0.0021 e = &2 70
() w (d} 0.00021 (a) 210.25 {b) 75.69
§m 0441 i) 14.5 () 145
The valudrof 7— is equal to : 64. The least number that must be sub-
0.625 : tracted from 63522 to make the re-
sult a perfect square is :
Jo.441

63522 § | FA-w GEn Wi e i
aftorm of =1 #?
(@) 18 (b) 20

{c] 24 (d) 30
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., The simplification of

By which smaltest number should
20184 be multiplied so that it be-
comes a perfect square ?

20184 H fFa =an Ten | N fR
o oftomy qof 3 27

(a} 2 {b) 3 {c) 5 (d) 6

If cube root of 175616 is 56, then
the value of
J175.616 + 90.175616 + 30.000175616
is equal to :

175616 F WYE 56 &, af

H175.616 + %._175616 +90.000175616

L]

a‘:nﬁsng ' N
{a) O (b} 62.16
{c} @ 216 "%} (d) 6.116
R 2003
-
o % 5

2
1-— -
3
5 g 3
5 b — =
() (b) () 12 (di 5
1
If 2=x+ 1 then the value
1+
3+—
4
of x is
AR 2=x+ — %, A x| A A
1+ .
3+—
4
i
18 b 2 g
(3117 ”17 (e} (]17
Find the value of
2 3
L L 5 .8 1
+1 1T 9 27 s mmmm
2
=i
=6 b) 8 (c) 4 d) 2
Simplify T W
) 1
14 ——— - —(10+2)
3 2
2+
1
5-_
2
0 0 15 g 1
1 - -
(@) (b) (c} 2 (d) 5

[2q]



71. Simplify: A F)

1+

72.

73.

74,

75.

76.

1 1 1 1
=i 1+ -l 1- xf1—
1 1 1
104+ — W+— 10+ — 10+—
10 10 10 10
=/ 1+- 1- ! 1
10+ — +—
| 10 10
100 90 20 101
— B & W
@ 101 ® 101 @ 101 ( ]IOO
1120

If Fp = 80, then P is equal to

1120
ﬂﬁj;wo%,a’r P T 41 #?
(a) 14

(b) 140 (c) 196 (d) 225

Sl 48
1458

2 1
_— 53 ) 1 _(l_oﬂ_J is
4—+--(—+21—] 32

3 5 10 S

equal to % 3T #?

1 1
9 11— 13 (dy 15—
(a} (b > {c} (d} 5

77.

79.

80.

3 5
A I= —+ —, 1l = 344 + 5) +6],
2 6 [(4 = 5) +6]

M=(3+4+5)]+6,V=3+4(5=6)
then @

{a) 1 and I are equal (I 3R I FqR ?)
{b) I and IV are equal {I 3T IV 3= &)
(c} I and III are equal {f 3t Il FT %)
(d) All are equal @ TR §
Thevalue of 1 +[1+1={1+1+1
+1 + 2§)] 1 HA F &2

1 by > b !

(a) (b} g ©2 (b) >
The simplified value of

1 1 1

ZsxZ
3 33 1

1 1 1 9 is equal to : HT
—+— of —

3 3 3
weelpa w7 2

0 b) 1 L
(a) (b) (c} 3 ,%d
Simplify & H

|
3 7 (1 1 m
— e | —
4 813 4

Simplify W& 81. The, ification of
3 395 +1.33 equals : B T w4
U T
14, {mz] _
4 202 46 273 "2.60 b 2.61
(@) 18 (b) 36 (o) 39 (d) 0w | (c) 2.64 td) 2.64
The value of % S . The value of
1}
0.1 x0.1x0.1+0.2x0.2x0.2+ % 0.9%0.9x0.9+0.2x0.2x0.2+0,3x0.3
063: 0(:;3; %32‘ 3x0.142x0. x0.3-3x0.9x0.2x0.3
1x0.1+0.2 2+, __'!'?-3“ 0.9x0.9+0.2x0.2+0.3x0.3-0.9
0.1x0.2 - 0,2 xQ.3% &g~ 0.1 = x 0.2 - 0.2 x0.3 - 0.3x 0.9
HH T ) K"@, 1 HA 0 2?
(@) 0.006 (.6 @ 1.4 (b 0.054 (¢) .8 (d) 10
() O ) 0.2 83, Simplify : 9@ F :
1 1 1 1 - 2{ - 2]
L b 01) {1-9(0.16
30%'7{90 10 ° ( ) ( )
2 1 1 1
2 < — -— b ——
@) J_27 ™S @ " Te2 ®) Jos
6 7696 1
2. 2 Q) ——
{c) 57 () e () T08 ) 109

84.

85.

86.

89.

90.

91.

92,
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NG

Simplify : 9 &

142 y L
‘S a2 3 2 3
+ —| —+ == of
(.1 7is 10 11

2 2 3

2 37

— b ———
(a}S (b

3 3

z 132
{612 {d} P

Simplify : ' :
(0.9 —*3 "R 2 - (7.1 - 5.4 - 3.5y
(@) @ ©0 d 2.6

(32) 3 W1 112+3x32 x79 x 111
is equal tq® & AL 7
10096 {b) 0
.q?\%aoow (1
{ [_+§ (E_EJ,E) .
5o/l s ~ 3 T3/ is equal to ®
TR 22
(@) 38 (b} 19 () 37 (d) 36

0.2 x 0.2 +0.01} 0.1 x 0.1 + 0.02 |
!is equal to ® =T 27

s 02
lau}3 [112 (CJ4 {15
1 3 11
P 42‘ 36_23 is equal to %
qOR 7

3 — 1—

(a) 3 (3} P
2

4 = 12

(c) 12 (d) 3

The simplification of

1 1 1 1 1
§+§2_+E3_+3_4+§ upto three-
place of decimals yields F1 TIEIHM
TemEa B o T Fm gme

{a} 0.143 {b) 0.163

{c) 0.215 {d) 0.715
Simplify : 9 F¥

Ja2.1 - (8.1 +[(0.25F +(0.25)(19.95)

fa) 1 (b} 2
The value of

©3 (@4

0.051 x0.051 x0.051 + 0.041x0.041x 0.041
0.051 x 0.051 - 0.051 x C.041+ 0.041 x .041

w1 e A7

(a) 0.92 {b) 0.092

{c) 0.0092 {d) 0.00092
431




93.

94,

95.

96.

97.

98.

99,

100.

101.

102,

The value of

5+\/11+ 10 + 20 + J4g F WA FA

7]
(@3 (b} 9 € 7 di 5
2 2
The value of (75'8) _(55'8)
20
e ¥ #?
(a) 20 {b) 40
(¢} 121.6 @ 131.6
The value of —— 2% . dlose 1
e value O W— 130038 4]
-0.04
w1 U[ frae Freaw €7
4+ 30‘4 ¢
@ 0.4 (BO8 (¢ 1.0 (d} 1.4
J0.00004761 equals ® TR §?
(a) 0.069 (b) 0.0069
{c) 0.00069 (d) 0.0609
¥z -1

If = 1.414, the value of
2 32 +1

is nearest to

A fp =14142 7 %:—iaﬂm

s feream £7
(@ 0.172 (b) 0414
(c) 0.586 (4} 1.414

0.00001225
————— jsequalto: T TR
0.00005329

25

(@ -

35 25
77 @ 77 @3

that 5746~ 23.97,
5746 = 75.8 then f0.000

574.6 = 23.97, /5746 =

™™ $ @ 0.00005746 :

(a) 0.002397 {%)0.0
(c) 0.0007580  jgf} G0

J(om) +0404x0§%§:m2) +1=7?

{a} O
fc) 1

0 3
ll73

Given

397

:".' L hi
"981+ 71.2006 is
47 fope fRzaw 27

) 4.5 (d) 4.1
How many positive integers less
than 1000 are multiples of 11 whose
square roots are whole numbers

1000 ¥ 9 FFerl s Tend &, 511
F R ¥ T IR T O O wem §?
@2 4 (@8 (@11

103.

104,

105.

106.

107.

108.°%

105,

110.

What is the least number which
should be subtracted from
0.000326, to have perfect square ?

0.000326 ¥ A FR-H =FEq Fen wr
i, o wftomm % qof = w2

{a) 0.000004 {b) 0.000002

(c) 0.04 {d) 0.02

7
The value of :d——- is equal to
875

7
—— =1 WA frad T #2
875

1 1
a) — c) — dy —
(a) 3 (€0 37 @
Sum of digits of the smallest num-
ber by which 1440 be muiltiplied so
that it becomes a perfect cube, is

39 WEE % AF = A e wm fawd
1440 T TN FH T IROW TF 7o T €7
@4 (6 (@7 (d38

L
® 15

The least possible value of A fm:"-

which 90 x A is a perfect cube is.
A® T A ¥ feee 1%11190x
s ol A &2

S

%R

1 %‘(b} 1.5 (@2 () 25
3 R

\?‘ is simplified to
+ x (.39
3+ 2
2
3+ -
3

w1 wedro

{b} 2

(d} None of these

is equal to ® T ¥

3 b) — E d5
(a) (b) 1013 [}3

8.7~ [7.6 - {6.5 -(52- m)ﬂ

is simplified to; 1 AT T ZPW?
(225 (035 (¢} 45 (d) 55

111,

() 200 (b) 300 (c) SO (d) 600 *' 1i4.

YEAR 2004

115.

116.

117

118.
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SR AP B
(a} 3 {b) 10 (e}

The simplified value of

((0.111)° +(0.222)> —(0.333)° +
(0.333)2{0.222)F  WEiga A F
gm?

{a} 0.999 {h) O
(c) 0.888 d) 0.111
1 1
1—+1—
‘14 29 isequalto:ﬂ}ﬂil?ﬁ?%:
—+1- —]
i5 10
& 2
(a) 3 i.{b],@ (c} 5 (dy 5
A‘g LY

3 is simplified to

(b) -
The simplification of

(0.63+0.37+0.80) yields the result
F WS T W AE 4§

(@) 180 (B 181 € 1.70 (d) 1.80

(4.53-3.07)
(3.07-2.15)(2.15-4.53)

(3.07 -2.15)°
(2.15- 4.53)(4.53-3.07) "
(2.15-4.53)’ o
(4.53-3.07)(3.07-2.15) ® S
plified to F1 Tteirpa a1 #?
@o M1 (©2 @3
17 17 2 2 17 4 ified
—_X—— X——— X
515 15 15 15 15 0 Mmplifie
toﬂm‘l‘&ll?ﬂqﬁﬂﬁ%?
@0 m1 (92 (@) 3
0.25 0.09
. x is equal to :
0.0009 V0.36
% s 2
5 . 71 ;1 o 81
(a}6 (b 6(61 3 () 3
The square oot of g4 is !
0.4 1 T B2
@ o8 B o6 €07 @09




119.

120.

121.

122,

123.

124.

125.

126.

127. The sum of the digits of the small-
est humber which, when multiplied
by 1800, gives a perfect cube, is

W TS F R W qm v g e

The value of Jﬁ —-J128 + J% cor-

rect to 3 places of decimal is :

J32 - f128 + /50 1 AR TmEE ® 99

A 7 2 1800 =1 ToN T W 9ftoms uF ol =7 2
() 1.732 (b} 1.141 @2 B3 (@6 (s
(c) 1.414 (d) 1.441 YEAR : 2005
The square root of
2 3
(7+3J§)(7-3J§) matE A d? 128, The value of gxm - ™
6 3 4
4 (b d
(@) (M) 5 () 345 @2 T
The value of
1 2

J400 *+ J0.0400 * J0.000004 F1 A @2 Bl @5 @
72
(2) 0.222 (b) 20.22 . ( 1 15]2 [4“ 15]2_
(c) 20.202 (d} 2.022 45t 157} I8 equal to:
If J3= 1.7321, the value of & T )

{a} 1 (b) 2 {c) 3 (d} 4

130. The value of

correct to 3

Ji9 -%@-J?r_s,

place of decimal, is

0.1x0.1x0.1+0.02x0.02x0.02

Xﬂ e smallest positive integer when
ultiplied by 392, the product is a

3] ()

137. The square root of W

3— -|4—
4 3
1 e T 82
7 ! B 5 >
@12 ™ °1a
1— id] 1—
() 12, )

138. The, number added to
680) ake the sum a perfect
squat@ Ty
68062%? -4t =HAR = Wet WY
%a‘mw{ufaﬁs’w

b5 (o} 6 (d) 8

perfect square, is

02><02x02+004><004% F A YIS U W o 392
afe 3= 17e20 2, TH 7 &7 1 o0 FT WA T o g 27
1 {a) 0.125 (a6 {b} 5 c) 3 (dy 2
V192 - = a8 - 75 %1 wm wmEE = {c) 0.25 . 140. Which smallest number must be
2 131. If * represents gynumber, thén the added to 2203 so that we get a per-
A4 s T w fect square ?
{a} 8.661 (b) 4.331 value of * in 5 zax 2203 ¥ % -9 70 Tem g
{e} 1.732 (d} -1.732 ] F oftomm u i =t &2
R ) ﬁr wa @1 B3 (©6 (@8
48.4 is equal to ® AR 7 3 1Y 141. The number, whose square is equal
0.289 *"&Jgﬂ * WA 2 to the difference between the
squares of 973 and 585, is:
1297 - (6 )2 % FH-W wew ¥ frww = 975 ol
LT ® 17 L2 585 % WMl B W F TR 2
> equal to : T TR %? fa) 780 (b) 390 |(c) 1560 (d) 130
12 16 12 — 142, If the sum and difference of two
() 1272 L Ay T . . . . number are 20 and § respectively, then
i (@ 2- B 3— (¢ 4— (d 5— the difference of their squares is:
The number, whose square i€% : 2 2 9 2 L .
! i af% = wEma # [ T HR 20 3R
to the difference of the squarég o 183, The value of (0.98)3x{0.02)® + :
79.13 and 60.12, 3x0.98x0.02- 1 ¥ AH w2 BY, 9378 il i A T2
T F- wﬁm%ﬁwaﬁ 75 15 %k o 198 ) 105 © 1 (@0 @12 (128 (80 (d) 160
60.12 % i B 3 134, (71 x 20+27x15¢8x4) equals % way 143 The sum of the squares of two posi-
{a) 46.00 3{ # tive integers is 100 and the er-
; ence of their squares is 28. The sum
'[1?:1 45.09 h f (@) 3450 (b} 3438 of the numbers is:
€ sum of t 1-1 0 two num- (c) 2996 {d) None of these v
bers is 3 If§ nwl’ the number is 35 (0.05 x 5 - 0.005 x 5) equals & ==L :1@ i @ o %ﬂ: :;l bl 100;31‘\'!
5, the othi;% o) HH 28 €, A 3T HEAT T
’ 2
A T AN T W 386 2. W (@) 2.250 (b} 0.225 e
@ S o e ? (c) 0.0225 (d) 0.275 (a} 12 (b 13 (¢ 14 (@) 15
@18 #1015 @20 136 The vaiuc of 144 Which maliees mumber mus be
The sum of the cubes of the num-
bers 22, - 15 and - 7 is equal to do.zxo.zxo.m 0.04 % 0.04x0.04 perfect cube ? '
22, - 15 3K - 7% WAl =1 9 Fm &) 0.4%0.4%0.4+0.08x0.08x0.08 710 ¥ 9% HH-d1 TR dEm g 9
(a) 6930 (b) 9630 = A mamwE iR e
{c} 3 d) 0 {a) 0.5 (b 0.25 (¢} 0.75 (d)0.125 @29 (b)19 ()11 (d) 21
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145.

146.

147,
148,

149.

150.

151.

YEAR : 20086
B
— is to
ag °
— Fwm
43
1 1
(a) 1 (b 1
3+ 24+
1
14— 1+ —
16 8
1 1
(c) 1 (d} 1
3+ I 3+ i
1+ 1+ i
l+l 2+ -
8 4
1
The value of 1+ T H
1+
1+ L
1
1+
2
1+ 2
3
WA # #?
17 4 8
ta}13 b 5 {c) 21 (15

2 2
(3.63)" -(2.37)
3.63+2.37
T 3? .
@6 (b 1.36 ) 2.26 (d} 1.26
The number of perfect square num-

bers between 30 and 1000 is

50 3R 1000 F 4 fret ol o el 27
fad21 (@22 ()23 (d) 24

If the product of four consecutive
natural numbers increased by
natural number p is a pey’I¥
square; then the value of p 1N

is equal to &

A IR TR WFA WD % g 1)

T WA WA P g S ufows

7l & &, W P WA \

@8 (b4 1
YEAR :

(256018 x {16)°15is to % T

L]

(a) 4

]

35 5779 911 1L13 1315

is equal to ® T ¥?

2 a2 T oa 2
Wi Py @55 @G

152,

153.

154.

155.

156.

157.

159,

160.

(53 x 87 + 159 x 21 +106 = 25} is
equal to ® TR 2

(a) 16000 (b} 1060

(c) 10600 (d) 60100

The number of digits in the square
root of 625686734489 is
625686734489 % Figst # fha oim &2
@4 ®m5 (©6 (d) 7
The smallest number which should
be added to the number 8958 so that
the result is a perfect square is

8958 ¥ @ BA-Tl Zw wEA S W
& vfomm w i = 72
(@) 69 (b) 67 () 77 (d) 79

Given that /o4 is approximately

8
equal to 4.898. Jg is nearly equal to

e R fF g = 48088 A Em

WA fras fraeas 27
{a) 0.544 {b) 1.333
(¢ 1.633 {d) 2.666

There are some boys and girls in &
rocom. The square of the n
the girls is less than the
the number of boys by,
were two more girls, the 'of
boys would have been the as
that of the girls., The total ntamber

F HET B TFH Hreen 3 928

mag@:af, Aoy Forae 1w &, 7
I @ e o )

(a.} 56, (¢} 10 (@7

B

ngeciive natural numbers is
0, H‘Aen the smallest of these
numbers is

a) 8
. '[I'l'lle product of two whole numbers
is 37. The square root of the differ-
ence of the numbers is

% ol demel W A 37 %, @ 5
T 3 S 1 wigE w wm?

b 6 € 7 td) 5

@8 Mm75 6 (d) 4.5

R L VT p—

is equal to ¥ wUAT 2?7

(a) 12 (b 11 (&) 10  (d} 15
The sum of the squares of 2 num-
ber is 146 and the square root of
one of them is Jg . The cube of the
other number is

o HEms R T W Em 1462 FRTH I
W e J5 A mh gen @ o
T g

(a) 1111
{c}) 1331

by 1221
(d) 1441

161.

162.

163.

165,

166.

168.

169,
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The least number, by which 1944
must be multiplied so as to make
the result a perfect cube is
I HH-W an oEm ¢ faEm 1944 ®
o foem wme 6 oo o i W= E?
@2 M3 o6 (d 13
The smallest natural number, by
which 3000 must be divided to make
the quotient a perfect cube, is :
€ <[ Wpd S SA-1 @ R 3000
¥ um 33 R 9erea s 7ol W whm?
a3 {b) 4 {©) 5 (d 6
The smallest positive integer n for
which 864X mis a perfect cube, is:
‘{?’If'nﬁ n 7 2 foos
(a) 1 '[Cl 3
YEAR : 2008

(d) 4

"‘ 0.125 + 0.027
Valuc °f 925-015:000
w8

(8) 0.2

(b) 0.25 (¢) 0.3 (d) 0.8

(7. 5)3+1

( _Gslsequaltoiﬁmﬁ?

2.75 b9
(a) 2. ll5

(c) 4.75
The value of

(d) 8.5

(2697 - 0.498)2 +(2.697+ 0.49&;)2

2.697 x 2.697 + 0.498 x 0.498
%1 7 T #?
(a) 4 {b} 2
() 2.199 @ 3.195

0.081x0.484 I
* {0.0064x6.25 STt ;

@9 .9 (9 (d) .99
Given that .3 =3.6 and 130 =
11.4, then the value of

J13 + 11300 + J0.013 is equal to
feor w8, /13 =3.6 3l f130 = 11.4

ﬁ’ Fﬁ Ji; + 1300 + +/0.013
forea ST 87

{a) 36.164 {b) 637.254
{c) 37.714 {d) 37.154

The largest number of five digits,
which is a perfect square is

+1 HIEA

e siw ¥ 97 stfman e e ¥ st o
wof =nf &7

(a) 99999 {b) 99976

(c) 99856 (d) 99764




170. The number, whose square is equal
to the difference of the squares of
the numbers 68 and 32, is

w% dew = ¥ fouw &, e Am 32 %

ol & s & w E?
(a) 36 (b)48 (¢} 60 (d) 64
YEAR : 2009
171. The least fraction to be subtracted
from the expression
1 4 5
3--—of -
4 5 &
1 1 3 1 -
LI ISP, to make it an in
3 5 \10 5
teger
1 4 5
4 5 6
w1 1 (3 D EvwEea
3 5 \10 5
o= werm = f& ftom w Yo @7
1 b 5 1 4 3
(&l}2 {16 ['3]4 {]10
172.1f  ¥0014x0.14x = 0.014 «x

X
0.14%y . find the value of ; s

AT Y0.014x0.14x =

0.14%y % iiﬁf‘qﬂﬂﬁﬁl

(a) 0.000196 (b} 0.00196
fc) 0.0196 (d) 0.196
The simplified value of

——
5+ y114+419 + 29+ Ja9
HeEEd OE T 87 A

@3 M2 (o4

0.014 «x

173.

174,
subtracted from 1000 to make t e
resulting number a perfed: uare is

mmﬁﬁasﬁw#w wrerdt
{a) 37 (b} 38 . [dl 40

175.

(b 0.1 {c) 0.01 (d) 10
176. (0.1 x 0.01 x0.01 =107 is equal to
% TR 87
1 1
@ 100 () 75 ) T @ 10

(&) l

1%‘!

(d) ﬁ'i :
The smallest number that must@%; “; 3

3.25x320-3.20x3.05
77

is equal
0.064
to: ® T 77
1 186,
a)l . (b — — i) 10 '
{a) (b) > (c} 10 (d)
2 2
(0.1)" -(0.01)
178. 0.0001 + 1 is equal to
% R 32
{a) 1010 (b) 110 187.
{c) 101 (d} 100
179. (0.5 x 5+ 0,25 x 0.5+ 0.5 x 4 + 0.5
x 0.75) is equal to & TAFR &7
@5 (10 (15 (4 20
5+5+5+5)+5
180. ( ) is equal to &
C3+3+3+3+3+3
TR B
3 4
i by — -
(a) (b) 10 (c} 9
{100-1)(100 - 2){100 - 3} Rl
181. :
100x99 <98 x.., 190,
is equal to ®
Q0% %
® 59 <98 comw. T3 .21
- 7 191.
K“\"-. T |
(b) ~ it
ggwxgnmxsuxl
(c) O
A0
AT gt 2

<

si‘:m; T OB x 97 x ... x3Fx2x1
482 9 x 0.9 x 0.9 +0.1 x 0.1x 0.1) is
equal to & FYET &2
{a) 0.73 (b) 0.82 {c) 0.91 (d) 1.00

192.

Jo,oog x 0.036 x 0.016 x 0.08
0.002 x 0.0008 x 0.0002

equal to T TR 22
(&) 3¢ (b)36 (o 38 (d) 39

11,85 s equal to % TR §?
— X > L, i to /
V'3 125 *

184.

193.

194,

W E?
@0 (1 ©2 @ J
\[2_4 +4216 . wal to & 3
T is eq 0 TUH 2/
2
@ 7 b 26
() 46 (d) 2
1
1ﬁ110+- 1seﬂua.l to ® TR 7
a) 12, o“ ‘ {b} 11.5
{CJ d) 10.5
4- dlglt number which
a square is

saterf 7% - =T vew ¥
w@ﬁﬁ
(b) 1016
(d) 1025

tween 120 and 300 ?

120 it 300 % =9 fha qof = wem
#

@5 M6 (o7 8

If x is a perfect square integer such
that 7< (2x -3} <17, then the value
of xis :

R x uF ot a7t quis T wEw € R 7«
(2x-3) <17 ¥, @ xF TR TS F)
fa}25 (16 ()9 (d) 81
The sum of a positive integer and
its square is 2450, The positive in-
teger is :

e PiE o we w owm oA
2450 ¥, & TR e w7 37

N; 1024
,.%? ow many perfect squares lie be-

(a)45 (b) 48 (g 49 (d) 50
\3/\}'0,000054 is equal to $ U &7
{a) 0.0002 (b) 0.002

(c) 0.02 (d) 0.2

%15612+ {154 + 225 is equal to ®
T &2

() 15 (25 (¢} 75 (&) 125
30.000125 is equal to  FK 8?7
{a) 0.5 {(b) 0.15

(c) 0.05 id) 0.005

195. (¥1000 + ¥0.008 - ¥0.125) is equal to

24
b)) —

1 1
(a) 25

25

21
d ——

(¢} o 25

25

185. [2‘]5_4 "5\]% - J‘%}

is equal to
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196.

B e 7
(& 9.7 (b} 9.97
{c) 9.997 (dy 9.9997

By what least number should 675
be multiplied so as to obtain a pefect
cube number?

675 % Firw =gTom W& ¥ T fEE My
5 uftorw o i 54 B2
@3 M5 (924 (4 40




197.

198.

199.

200.

201.

202.

203.

{#8C Conwtable (GD)& Rifieman (GD) Rxam 22.04.2012)

The least number, that must be a0 (b) 2.994 {a) 5.4 (b) 4.58 (c) 4.5 (d} 5.45
added to 1720 so as to obtain a per- (c} 3.208 (d) 3 (88C CHSL DEO & LDC Exam 4.11.?012)
fect cube, is ‘ 204. Simplify: T F : 212, {13302; 10 - 100 +%b30326100 =3
1720 ¥ FA-T ~pam e S W 5 e 280 @ 1600
aions i 57 9?7 1.1n2z 1 (88C CGL Tier I Exam 11.11.2012)
@7 (b} 8 {011 d) 13 3 4|5 2 547.527
By what least number sh?uld 4320 2 3 3 4 213. If ———— = x, then the value of
be multiplied so as to obtain a num- 1— of ——— of — 0.0082
ber which is a perfect cube ? 3 4 4 5 547527
4320 ¥ fFm =AM e 9 T R is
for wra wfomy ww of o w2 @ 37 ) 37 82
(@) 40 (B} 30 () 60 (d) 80 78 13 o 547.527 . 547527
YEAR : 2011 74 74 00082 82
. () e () 3 T EM? o
The value of 1+ N w {a) 1 \ (b) 100x
H 1 sl ol 1yl © @ —
14 - 0.04 37 %2)72% % 100 10
14 _2_ 0.03 4+ of 2 214 square root of
S 9 0.324 x 0.081 x 4.624
e =7 87 fa) 1 (k) 5 1.5625 x 00289 x 72.9 x 64
21 17 34 8 1 1 wn #?
(c) s (d) 2 (a) 24 b) 2.4
{c) 0.024 (d)L2
T
..

@z ®5 @57 @
206. The sum of the squareg off 3
1 2 secutive positive number
2—--1— The sum of the numbers is By

i
Th”alueof—s_"l‘“— A T TR s g ® I | am
=i

1 365 2, A wemel H
3+ fa) 30 (b} 33 (d) 45
8+J@ =7

{©) 8 d} 10

34

1
34+ —
N 3 207,
*y &7

116 208,

(d) o=

38 109
(a) 109 ) 38 1 109

auh of the squares of p and q
the product of pand q is

QW 53T ¢ sitpam Q& i
A 559, G PO Q F TATH 7@ H
}y 10 (b} -10 {c) 15 (d) - 15
. The product of two numbers is 45
and their difference is 4 . The sum
of squares of the two numbers is
T S T PEER 45 & 3 I S
4%, W T o w1 A T

(@ 135 {b) 240 (c) 73

3

The value of 3 + A TL?

(d) 106

a) — — 5 .
6 6 — by 1—-—
@3 (b} 1~ =
c) — 4 2
6 o = d 1-=
(d) none dFthe above (¥ ¥ i 7 7
5 YEAR 2012
(3:2) -0.008 0.3555 x 0.5555 x 2,025
The value of 2] 211, — * O x 2. . ]
(3:2)" +0.64+0.04 " 0.225x1.7775x 02222 ' taual 1o

N HH 787 g )

5.

216.

The simplified value of J025x225

is ¥ aeefipa WA w32
{a) 0.075 (b} 0.705
{c) 0.750 (d) 7.500

(38C CHSL DEO & LDC Exam 4.11.2012)
If 18225 =135, then the value of

V18225 +J182.25 +
J1.8225 *+ J0.018225 is

5 Jigzzs =135 &, @ figa2s

+ 18225 + J1.8225 *
Joolszes w1 A w2
() 14.9985 {b) 149.985
(c) 1499.85 {d) 1.49985

(88C CHSL DEO & LDC Exam

21.10.2012)

217.

218.

Wizard of Maths - Rakesh Yadav Sir

51
The square root of QIE is &1 @

&

8
5 — 4 =
(a) 13 (b) 13
3 5
4 — d) S —
P @>73
[BBC CHSL DEOQ & LDC Exam
28.10.2012)
If (1101)® = 1212201. find the value
of (121.2201
afs (1101)2 = 12122018, @i

J121.2201 1 9F 91 H




219.

220.

221.

222,

223.

fa) 110.1 (b) 11.01
(¢) 1.101 {d) 11.001

(88C CGL Tiex IExam 11.11.2012)
The value of

[0.064 x 0.256 x 15.625

Y 0.025 x 0.625 x 4.096
{a) 2 b} 24 (c) 0.24 (d) 4.2
(S8SC DP (8I) Exam 19.08.2012)
The number of pairs of natural num-
bers the difference of whose squares
is 45 will be
W TE * WS T & Wl oFe
fert & v ol @1 SiE 45 2
{a) 2 b3 c) 6 d) 5
{88C CHSL DEO & LDC Exam
04.11,2012)

If 33n =27, then the value of nis :

MW Y3 27 dawmuR T

@9 Mm6 (g1 d) 3
(88C CHSL DEO & LDC Exam 4.11.2012)

Year : 2013

wARTE?

— 9  isequal to ¥

TR 27
1 1
(a) 1 (b} 3 (¢)2 (d) 3

(88C CHSL DEO & LDC Exam
’_ L 27102013

part of a

2+—
4

journey takes ten minutes, thegat
3
complete g * of that journey.
take
- : ~th

4
1
o am 671 1]
3+
1
2+z
mm wH A #, W = = .

gmmmﬁﬂmwaﬂm?

{a} 40 minutes (b} 45 minutes

fc) 48 minutes (&) 36 minutes
[S8C CHSL DEO & LDU Exam
10.11.2013}

227.

1 1

Y =+
14297 "y, gbe BT @
()&~ b ) b o
(c) 1 {d} 0
{88C COL Tie I Exam 21.04.2013)
The UN of
1 1 1 1
3—-|2— 41 — l—l——]
2 4 2 3 6
2

=1 7H,
i 1 1
T - 3= (4 9-
(a) > ic) ” (d) p
(S8C CHSL DEO & LDC Exam
27.10.2013)
3 .3 3 2 2 2
28, 3 —+2x3-_x_4_x_ =7
5 5 5 5 5 5
(a} 15 (b) 16
{c} 17 (d) 18

9.

(1--1— +[1-i]+[1— 3
A+l n+l n+1

230.

(SSC Constable (GD) Exam 12.05.2013)
Find the sum of
] L +(l - L)
n+l

L
U

T 4 A B

{a) n

1
© (r+1) @ (n+1)

{88C CGL Tier I1 Exam 29.09.2013)
The value of

224,

235.

236.
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233.

1 1
I Tl 15 b} —
720 (@ G
1 1 1
32415 24 : 128 128
224. 2 20— s equal to S d 59
3- 3 (88C CGL Tier T Re- Bzans(2013) 20.07.2014)
231. The value of
= T 27
@1 ®m4 (©3 (@2 1 _
(8SC CHSL DEO & LDC Exam (‘3"‘/5)“3_ I~ ({6“4‘5)‘ Ll
10.11.2013)
. WM @
225. ‘I‘hcvalueofh% T (a) 8 . (b) 1
1+ — © V2 8 A S @o
3+ s (ssc £ I Exam 07.04.3013)
12 8 48 2 ) V24 + 216
232. What e value of =?
(a) 29 (b} 10 (c) 29 (d} 19 Joe
(8SC CAPF SI, ASI. Exam 23.06.2013) 18?7
1 ! a) 26 (b) 246
226. -5 is equal to
142070 g4 oba 4 @TCH (@ 4
{8SC MTS Exam 10.03.2013)

Simplify ; T& W :

33 1 1
3+ — +,19+—x2,/3—
64 7 9

45 . 17
@ 56 ® 7s
3 3
aZ 2 =
(©) s (dy 16
(S8C MTS Exam 17.03.2013}
The simplified value of Y2+ 4
emmplle value o m
is
J324448
8 412
(a) 3 b} 2
o6 d 4

(BSCMTS Exam 17.03.2013)
Number of digits in the sguare root
of 62478078 is :

62478078 B Wi 7o | e ofw &2
(a) 4 (b) 5
ic} 6 @ 3
{8SC CGL Tier I Exam 31.04.2013)
r 1
If [n —tn+ zJ be a perfect square,

then the values of ¢ are :

uf-:(n”—m%]wwaﬁ,mm

T T F




237.

238,

239.

240.

241,

242,

243.

244,

245,

@ £2 1,2 (€23 (@ +1
[88C CGL Tier I Exam 21.04.2013)

The square root of 33 - 4 /35 is :
33 -4 /35 @ whwm = 2
{a) 1:(2\,';4*\[3) b) t(\ﬁ+2\/§)

© +(V7-245) (@ (247 -5)

(88C CGL Tier I Exam 21.04.2013)
the value of

/156.25 + J0.0081 - J0.0361 F T

Fm &7

@ 13.4 (b) 15.4 (c) 12.4 (d) 17.4
(S8C Comatable {(GD) Exam 12.05.2013)

The fourth root of 24010000 is

24010000 ] Igd ¥ T &2

@7 ()49 (c) 490 (d) 70

(BEC CGL Tier 1 Exam 19.05.2013)
The greatest 4 digit namber which
is a perfect square, is

Find

WMH&WWWW*G&W ﬁaﬁmﬂa#ﬁa}ﬁm%lm
i o 27 %o T T 361 2, ¥ 90 # 76 vo wea
() 9999 b) 9909 fret i 7 e ? )
(c) 9801 (d} 2081 {a) 17 days (b) 19 days
S BRI I0200) 21 dm @ Sukgre .
)
expression 16a? -12a to make it a (8SC OGL Tier H Exam 21. ﬁi‘"
rfect ?
l:;az _1232;-3;;:'_#' T W WM fr 249. The value of \||10"_}6 &-9.25 is T=Fl HHA
ftom o o o )2 ¥ 2?2 :
0 11 " {a} 0.0025 [bm 0005
z - i {c) 0.25 “T&) 0.50
@ 4 (b) 2 () 2 ) 16 tusccmal.cmm%ucnmmzom
(88C CGL Tier IExam 19,05.2013) 250. The slmpilf&ﬂalue of
3 ' ‘.;‘-)
The value of (v'43 N 152) = M WE, % 4V3 V6
3 W 36 + :,‘ :1'3 + J
82 ‘ xé‘f ;
(&) 4913 (b) 4313 Sy 2
(c) 4193 (d) 3943 _ * 1
(S5CMTS Exam 10.03.2013) ‘-"v,ﬁ @ 2 ) 5
12
V#1251 cavat tﬂm%"‘ag’?\? © 3 -2 @o
@ 1.4 (b) 1.6 o) 1.8 (d) (8SC CHSL DEO & LDC Exam 02.11.2014}
{(S8C MTs hums .2013)
; 4-y0.04
YEAR : 4 -~ 251. The value of —T— is close to
If x [-2(-4(~a)}]+5 a))] =2a 44404
then x = ? ' 1 1 Ferua frepeaw 27
af; x -2 -2 (~aj}| =4a a) 0.4 ()08 (] 1.0 (d) 1.4
%, @®A x=P [BGCGISLDEO&LDCEIWOZ.ILQOIQ)
{a) - (c) - (d) - 5 252. If J005x05xa = 0.5 x 0.05 x

lham 19.10.2014)
mber which must be
28 to make it a perfect
square is ......
1723ﬁzrsaﬁ=rwﬂ=fmm W sy
o aftom yof =nf 512

@36 32 ()38 (d) 30

{S8C CHSL DEO & LDC Exam 16.04.2014)

246. If a = 64 and b =289, then the value

1
of (J\[E+JE_JJ1_;_J;)2 is
aft a = 64 3l b =289 &, @

(JJE+JS —.JJE_ JE)% ok SR o]

@2V @2 (@4 (d-2
{88C CHSL DEO & LDC Exam 16.04.2014)

J64009 is equal to F T 87

(a} 352 (b) 523 {c) 253 (d} 532
(88C CHSL DEO & LDC Exam 16.04.2014)
A tourist spends daily as many ru-
pees as the number of days of his
total tour. If his total expenses were
T 361, then how many days did his
tour last ?

% T v I T = wa

247.

248.

a
Vb, then 5 is equal to
% J0.05x0.5xa = 0.5 x 0.05 x
a
Jp 2 A 5 feas aoar &2
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{a) 0.0025 {b) 0.025

c) 0.25 {d) 0.00025

{88C CHSL DEO & LDC Exam 02.11.2014)
A teacher wants to arrange his stu-
dents in an equal number of rows
and columns. i there are 1369 stu-
dents, the number of students in
the last row are

o T 2 Tl 9 g giEe qer @i
# Sz =rem ¥ 3Rk onl B %@ HEm3e0
o 79 & fR sifm e W fead em @2
@37 (33 (63 (d 47
{SSC CHSL DEO & LDC Exam 05.11.2014)
Which of the following is true ?

ﬁqﬁﬁaﬁw—ﬂmm%?

(a) %-"g+f
o) <6 +42
» (s:f?(?‘ J6 42

& (V5 +3) = (V6 +12) - 1

‘&SCCHSL DEO & LDC Exam 09.11.2014)
12“ The least number by which 20184
-_‘é‘x must be multiplied so as to make
the product a perfect square is
9% T WS A B e 20184 T
O T W W 7RO e quf o w2
@2 Mm3 (g5 d) 6
(S8C CHSL DEQ & LDCExam16.11.2014)

If x=J§+J§ then the value of

253.

254,

256.

W= 5,5 b K
o X
(@) 1042 (b) 1442

) 2242 @ 82
(8SC CGL Tier I Re- Exam 27.04,2014}

The value of {1001)*is 1 W+ ¥ 87

{a) 1003003001 (b) 100303001

(c} 100300301 (d} 103003001
{8SC CGL Tier I Exam 26.10.2014)

What is the smallest number by

which 625 must be divided so that

the quotient is a perfect cube ?

T Aan den Fn & el eas | wm

W AT WIS O 9O v §7

@25 M5 (g2 d 3
(S8C CGL Tier I Exam 21.09.2014)

The value of

(V& + VTG - V21 - 35)

(a) 27 (b) 18
{c) 40 {d} 1C
[SSC CPO Exam 20.3.2016, Morning }

T3 W HHA

257,

258.

259.




260 1 -E h
T 1  "a23° then the
a+ I
b+ I
C+—
2
value of a+ b + c is
(a) 3 b) 6
(c) 9 (d) 12

{S8C CPO Exam 20.3.2016, Morning )

1
The sum of two numbers is 15—

261. 3

2
and their difference is 4 —. The

3
product of the numbers is

ﬂu@lﬁmaﬁnls%%eﬂhm

FHR 4§%| TENSA F OAER T
gm?

@ 82 )60

1

53-=

@ 533
(88C CPO Exam 20.3.2016, Morning )

262.The value of

(e) S0

(0.013)° + 0.000000343

(0.013)* - 0.000091 + 0.000049

is

{a) 0.03 (b) 0.01

(c) 0.04 id) 0.02
263.Let a be a positive inte

When 89 and 125 are divi

by a, the remaind are’4
and 6 respectiyety the

value of a is

i a TF Y ;&1 59 89
3R 125 g < 3
R 6T a®
A

(@) 1 (b) 17

{c}) 9 a7

(85C CPO Exam 20.3.2016, Morning |
264, The value of following is:

(&) 242 b) 243
c) 4 d) 2
[88C CPO Exam 20.3.2016, Evening}

265.1f x = Y7 +3 then the value of

X -0x2 +27x - 34 is:
(a) 2 ) 1
(c)-1 d) 0.
{8SC CPO Exam 20.3.2016, Evening)
266.The value of x in the below
equation is:

feu o weitERw § x & 9 | wme
0.3+0.6+0.7+0.83=x

(a} 5.3 (b) 235
2 3

fc) 2;3* {d} 25
|S8C CPO Exam 20.3.201

267. Simplified value of
ing expression is:

1 3
;}1 1-2430 iﬁz\/ﬁ -
8+ \
() g M) 1
) [d) V3
{88C CPO Exam 20.3,2016, Evening)
68.Given 22 +42+ 62+ ... + 402 =

11480, then the value of 12 +
22 + 32+,..,... +202 jg :

(a) 2868 {b) 2870
(c) 2869 (d) 2867
(88C CPO Exam 20.3.2016, Evening)
269.The value of following is:

0.2x0.02 x 0.002 x 32
0.4x0.04x0.004x16
(a) 0.40 (b) 0.50
{c) 0.20 ) 0.25
(89C CPO Exam 20.3.2016, Evening)

270.The sum of 3 consecutive
natural numbers divisible by 3
is 45. The smallest number is:

Wizard of Maths - Rakesh Yadav Sir

3 Tan faa=a 3 srgmfe WiFa west
F AN 45 ¥ AGaw Hew F;W iy

(a) 12 (b) 3
{c) 18 @ 9
{88C CPO Exam 20.3.2016, Evening)

271.1f 12 + 22 + 32+

plp+ (2pt1)
6

5%+ ..., .+ 172P‘s
(a) 99 \
(c) IX;

i Exam 20.3.2016, Evening)

27;{}; simplest value of

, then 1% + 32 +

(b) 1785
() 1700

1 1 1
-8B B-v7T Ji-76 V6-45 5)

i 1 1 1 1
[\@—JE_Z?S-I?? +J?—J€'?6—J5')

¥ GEAEHd TF ¥ 2
{a) 3-5 (b) 3
(©) 5 {d) V5 -3

(S8C CPO|Re) 04-06-2016, Morning)
273.Find value of [2 x 374 - 9 x 3n]

/ 3002,
[2 x 324 - 9 x 3n] / 32 H AW
T w2
(a)18 (b) 3
(c) 1 ()17

{(88C CPO(Re) 05-06-2016, Morning)

274. What will be the remainder
when 25212 + 244152 jg divided
by 107

T® 25212 + 244152 /1 10 § G0
fo&ar som, F Yes = g
(2)8 () 6
)0 @8

(88C CPO{Re) 07-06-2016, Evening)

{2391
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(a)
(&}
()
(a)
(<)
()
)
(c)
{c
- @)
. (d)
. e
. {a)
-
()
()
. b
. (e}
. {d)
- b
(- |}
- b
- (a)
(a)
d
- (o)
. (ed

A R A

L e B N R T = T = T - S

28.
29.
30.
31.
32,
33.
34.
3s.
36.
37.
38.
39.
40.
41.
42,
43.
44,
45,
46,
47.
48,
49.
50.
51.
52.
53.
54.

]
(a)
{d)
(d)
(b
(@)
d
(d)
(d)
(c}
(d)
(@)
{d)
(c)
(a)
&
c)
(d)
{b)
(@)
(a
{d)
(c)
(b)
(b}
]
()

53.
56,
57.
58.
59.
60.
61.
62,
63.
64.
65.
66.
67.
68.
69.
70.
71.
72.
73.
74.
75.
76.
77.
78.
79.
80,
81.

{c}
b)
(c)
(=)
()
]
(d
{c}
()
(a)
{d)

(e)
(b)
(d)
(b)
(e}
(c)
(c)
(b}
{h)
(d)
(b}
)
(a)
()
(d)

82.
83,
84.
85.
86.
87.
88.
89.
90.
91.
92.
93.
94,
95,
96,
97.
98.
99.
100.(b)
101. (c)
102. (a}
103.(b)
104.(d)
105. (b}
106. {b)
107.(a)
108.{d)

(a)
{b}
(c)
(c)
(b)
{)
{a)
(e)
{a)
(d)
(b)
(a}
(d)
(b)
(b}
(a)
L)
(d)

109. (d)
110.(c)
111.(0)
112, (d)
113.()
114.(b)
115.{d}
116.(b)
117.(d)
118.b)
119.(c)
120. {d)
121.{¢)
122.c)
123.(c)
124.(¢)
125.(b)
126.(a)
127.(c}
128.(a)
129.(d)
130.(a}
131.(a)
132.(c)
133.{d)
134.(c)
135. (b

ANSWER KEY

136.a)
137.(b)
138. (a)
139.(d)
140.(c)
141.(a)
142.(d)
143.(c)
144.(b)
145.(d)
146.(c)
147.(d)
148.(d)
149.(d)
150.(a)
151.(d)
152.{c)
153.(c)
154. (b)
155.{c)
156.(b)
157.(d)
158.(c}
159.(c)
160. (¢}
161.{b}
162. (a)

163. () 190. {c) 217.(b)
164. (d} 191.(c} 218. (b
165.(d) 192. {d) 219.(a)
166. (b) 193.(b) 220.(b)
167.(d) 194. {¢) 221.{a)
168.(c) 195.(a) 222.(c)
169.(c) 196.(b) 223.(c)
170.(c) 197.() 224.(a)
171.(a) 198. (b) 225.(c)
172.(b) 199.(c) 226. (c)
173.(a) 200.(a) 227.(a)
174.(c) 201.(b) 228. (b}
175.(a) 202.{a} 229.{b)
176.(a) 203.{d) 230.(a)
177.4d) 204, (a) 231.(d)
178.(d} 205. (b) 232.(c)
179.(a) 206.(b) 233.(d)
180.(d) 207.(a) 234.(b)
181.(c) 208. (¢} 235.(a)
182.(a) 209. (d) 236. (d)
183.(b) 210.(b) 237.(d)
184. (b 211.(¢) 238.(c)
185. (a) 212. (b} ' 239. (d)
186.(d) 213.(d) 240.(e)
187.(d) 214.(¢) 241.{a}
188.(c) 215.(c} 242, {a)
189.(c) 216, (b) 243.()

244.(b)
245, [a)
246.(a)
247.(c}
248.(b)
249.(h)
250. (d)
251. (b}
252. ()
253. (a)
254. (a)
255.(d)
256.(c)
257. (a)
258. (b
259.(d)
260. (b}
261.(d}
262.(d)
263. (b
264, {c}
265. (d)
266.(c)
267. (a)
268. {b)
269, (d)
270. (a)
271.{a)
272.(a)
273.(d)
274.(d)
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1. (a) According to the question,

= 1+ 2
1+ ! 15
1+ —
2
1+ 9
2+ 3
1+ 4 = 1+ 18
5 9+15
1 24 +18
=
= 1+ 3 24
1+
2 3 472
5+4 =
M 24
5
7
1 = 7
= 1+ 4
2
1+-—-3T5‘- 3, [C}
2+ According to the question,
2 9 [3-5| - 54| + 10
1 -3(5)-2x4 + 2
Sl ——0D— 9x2 - 20+ 10
2 e -2V F 10U
1+ = T15-8+:2
18 +15
P 18-2
= s5-a
1
e T -16 B
1+ — REECEEPR Y
33 B T -
4. (a) According™tqi the question,
= ! R A
33 +18 [ { })]
5-4-(3-{3-3-6
33 5 el
33 = 5% 4-(3-{-6}
e = 53 (- 14)]
31 . = 5-[4-(3+6)]
51+ 33 L5
= = = 5-[4-9]
51
84 = 5-{-5]
= 51 = 5+5 = 10
11 _ 3. {d)
= 1= A According to the question,
17 ] %
2 PR ~(4-6)2-3(-2)+|4
Accordmg to th%@gﬁ@%n, 18-9:3x5
A --2) +6+6
1+ —pr = 2 revs
1+ —“a—z 18-3x5
1+ — 4 +6+6
5 - —
18-15
1+ 2 B
= R —
3x5 e
1+ . = 3
5+4

Wizard of Maths ~ Rakesh Yadav Sir

6. {c)
According to the question,

7. (a)
According to the question,

1-[5-{2+(-5+6-2)2}]

1-[5-{2+(-1)2}]

=
= 1-[5-{2-2}]
= 1-[5-0]
= 1-5=-4

According to the question,

J1.3 + 1300 +J0.013
ﬁ13 ﬁ 130
= + 13 0+ 0000

—+3605
= 10

100
= 1.14 + 36.05 + 0.114
= 37.304

B B A B A Y A A0 0 A 0 A M A A A A

MMMWWMWM#WMWIIMWM#/

“

%
7
z
1
2
%
2
A
[




9. (c) According to the question,

(2.644)° - (2.356)°
0.288

(2.644 +2.356)(2.644 - 2.356)
= 0.288

[ a*-h? = '(a+b) (a—b):l

5x0.288 s
= 0.288

10.(a)
According to question,

(3‘4567)2 - (3.4533)2
0.0034

[+ ab?= (a+b}(a-b)]

(3.4567 + 3.4533)(3.4567 - 3.4533)

=

0.0034
6.91x0.0034
—————— = 691

0.0034
11. {9

According to the question,
(0‘03)2 - (0.01)2
0.03-0.01

(0.03 +0.01)(0.03 - 0.01)
(0.03-0.01)

=

= (0.03 + 0.01)
[ a*-h? = (a+b) (a—b)]
= 0.04

12. {a)
According to the question,

Square root of 0.09 = Jg og <0.3

13. (a)
According to the question,

=
=

1
= 025
= 4

14. (b} 19, (d}
According to the question, According to the question,
3| 5808
0.49 . 0.81 2] 1936
0.25 Y¥0.36 2| 968
2] 484
7.2 (i a1
= o +— 11
5 & 11| 11
1
42+45 Factors are:
= 30 NN N
(3)2,2.2,2,11, 1t
87 Smallest number is = 3
= 30 20. (b}
According to.th estion,
9
2— 1
= 10 x V123
15. (d 2
@ _ - 240
According to the guestion, 4 Y7
Jx +Jaa1 = 0.02 247
— X — X 5
J_ i 10
X = 0.02 7 3
Jaa1 o
AW
Ve 2 21 (d)
= o1 100 According to the question,
: 3! 1323
42 \! %_ 441
x= — \ 147
= 100 7] 49
g 7l _7
s 1
TN

517’ V4 +12

= Jie =4

17. (b)
According to the question,

Given: /g41 = 29
V0.00000841 = 0.0029

18. ©)
According to the question,

100 = 10

= Since 99<100 So, square root of 99 or
any no. less than 100 will be less than 10.

So, the range lies between -10 to 10
in given series.

Wizard of Maths - Rakesh Yadav Sir

Factors are: 3, 3, 3, 7, 7.[7]
Smallest number is = 7

22, (b)
According to the question,
3034 - (1002 = 20.04)

3034 - 02
= " 20.04

1002
3034 - x 100
= 2004

1
= 3034 - 5> 100
= 3034 - 50 = 2984
23. (a) According to the question,

(100)% x(O‘OOI)% —(0.0016)41} x3° +GJ-1

4
= 10!0‘1—0‘2Xl+§

4
= 10x01-02+ g

4
= 1- —+-—




5-1+4
= s
8 1.6

= 5 =

24, (a)

According to the question,
1 1 1 1
____+___
2 4 5 6

= 25 3 7
_____+___

9 5 18
30-15+12-10
60
= 36-50+54-35
90
17 90 1
I a5

= 60 5 10

25. )

According to the question,

J72 - 18

—

SV - (

.
V6

=2

26. (¢
According to the question,

V80 - V112
= Jas-Jes
45 - a7 A
35 - 37 kS

Rationalize above equaﬁm,_

4J_ a7 3JE’-1,35‘§¥

= 35 ﬂ-%ﬁg&hﬁf

60+1%1 35 - 84

27. (0
According to the question,

= ,](272)2 ~ (128)2

= (272 + 128)(272 - 128)

[ at-b? = (a+b) (a~b)j

= 400 x 144
= 20x12 = 240

28. (b) According to the guestion,

= /15,876 = 126

Hence, Unit digit is 6

29, {a}) According to the question,
x+y= 22 i)
x* +y2 = 404 veen {id)
x+yP= x+y +2xy
(22)2 = 404 + 2xy

484 = 404 + 2y _ 3
2xy = 80 %s\-‘s
xy = 40 P

30. (d) According to the questidn, ; *‘Eﬁ .-

%J;=0.001

Jx =0.003
Squa:mg both sides % :‘%

= 0. 000009 ‘v}%
" Number is =

31.(d) Aocog.jiing_ ﬁ) é the questwn,

%thbarls-'i'

-"\5 4

32. W“‘Wordmg to the question,

& #729 x 10060
4096 x 10

729

x 1000

33. {d}

According to the question,
= (9.3 - (4.5

[ a*-b* = (a - b) (el2 +b? + ab)]
= (5.5-4.5) [[5.58 + (4.5 + 5.5 x 4.9]
= 1‘{30‘25 + 20.25 + 24.75) = 75.25

Wizard of Maths — Rakesh Yadav Sir

34, d)
Only 64 is a perfect square as well as a
cube : 8§ = 64

43 = 64
35. (@)
According to the question,
= X -x*= 48 . ... {i)

Now check from option to save your valu-
able time.

Option:{d) Number = 4

= @ - @y

= 64 - 16

= 48 (satisfied)

36, (d) Accordinﬁfo the question,
W # "

-:blk'% ’i’v 7
=
34 {;%&-ﬁ,%QQ
1'35“: 21“”7'-_
L9
*K 1 17
S WAL A
: 1 22
= + -
2__
7
N 1 +17
3.7 22
5
53 17
==
15+7 22
5 17
= — 4+ —
22 22
= EE =1
22

S
= x=1+—-




7
Value of 2x+z is

A — + —
= e

13 7
.1

= 4%

38. (d)
According to the question,

17 16

2 4

34-16
= —, -

18
4

g9
— =4
2

b3 | e

40. (d) According to the question.
50

X

X

12

[~

S
= 50 x — = x?

9, = x* =25 x 25
3, 1 x =25
1
3+ 41. (c)
1+ _1_ According to the question
4 0.008 x 0.01 x 0.072
19 ) = T 012x0.004
= — 4+
43 . 1 8x1x72 @
342 12 x 4 x 1000
12 0.012
— = 0.0
19 1 = 1000
= — 4+
43 ) +i 42. {a) According t% uestion
19
2J<
19 19 = 375"
= — 4+ — 4
43 43 6
38
o =
43 S5
M or 2
3f4
39. (a) According to the gquestion, ’
27 3
1 1{.1 1 P
= sl-[3—+{11-—[1-—1-— 3 5.5
4 |4 202 3 6 6 6
17 113 [5 1[3 1 :>Ex§=2
-t o=- 31
= 2 |44 212 3
N 43. (a) According to the Question.
17 (13 (5 S - Lt t. 1 1.1 1 1
- R Rm R R
@ 2334455667 7889
17 a3 11111111111
i il i S S S
= 5 . 2"1}] = 92334455667
1 11 1 1
_ t—— =+ —~ -
o |18 52 7 8 8 9 — 2
2 4 4
44, (¢}
1 13 3 According to the question.
= 5 j*; = 25-5[2+3 (2-2 (5-3)+5)-10]+4

Wizard of Maths - Rakesh Yadav Sir

= 25-3[2+3(2-2x2+5)-10]+4
=25-5[2+3(2-4+5-10]
=>25-53[2+3 x 3-10] + 4
=>25-5[11- 10] = 4

o5 2
=y

I00-5
=
4

95
= —4— = 23.75

4

45. (d} Acchi;ﬁo the Question.
2 2 1

— W -

W= —

3 4 3 6
5 7 5 2 6
= = N — M-
= §2 7 4 3 1
-5
6
x= 6
1
46. ) x=— -2 - -
1 5 x
2+ -

2
47. (@) According to the Question

1
j
5 1
?—Tx 110 of 1—
1—of1- 3- 4
8 3 2
5 21 2 5
= X — X — X —
15 4 10 7 4
8 3
3
2x—
= 4
3 1
Z .12
:2 2

48. (a) According to the Question

9 1 1 3 1 1
— =t — ===
20 5 14 e 3 2

9

20

o [1 [1
— = =4+4—+0
20 |5 |4

9 [1 1]
—.+_

=

2 |5 4
9 o
= 20 20 °°

N |




49. (d)
According to the questions

0.83+7.5
2.321-0.098
83-8 175
_ 90 10
321-3 98
2+ -
990 990
75 10 1 1
L_ 9% 75 ____ 9 __9
31898 220
o —— _ 24+ =
990 ~ 990 990
1,91 oos
= 9 20 20
50. {)
According to the Question
X x 1
—_—x =
= 21 189

= x? = 21=189

= x= {21x189

= X= (Tx3x7Tx9x3
= x=7Tx3x3

= x =63

51. {b)

According to the Question

(0.1 + {0.01)? + {0.009)
= \(0.017 +{0.001) + (0.0009)2

0.01 + 0.0001 + 0.000081

= J0‘0001+0.00m01+0.00000081~ g, S (c}

0.010181
= {0.00010181

= +io0= 10

53. (b} According to the Question

=  J0.01+0.81+ Jl.21 +40.0009
= 4.1+09+11+003
= 2.13 Ans

54. {c)
According to the Question

(6.1)% + (61.1* + (6111
= (0.61) +{6.11F + (61.11)

J(mxo.suzqu 6117 +{10x 6111}
= (0.61F +{6.117 + (6L 112

J [[0.61]2 + (6,117 +(61.1 1]2)
- 10%
(0.61)2 +(6.117 + (61.11)2

= ,’102 = 10

55, {c]
According to the Question

= J0.000441

441

21
= T =0.021

1000

56. (b) .
Accordmg to the Qu

Ageording to the Question.

¢ J 0.342% 0.684
=  V0.000342x0.000171

ey
Ay (342684 x 1000000
52. (b) ; y 342x171
According to the Ques =  J4x1000000
= 2x1000 = 2000
=
58. (a)
-3 According to the Question.
-+ 0.0441 + 0.004225
= S — =  J0.00060516
§0.000M09 + 0.000441 + 0.00004225
60516
0.049225 = m
= 000049225
246
= V100 = 10 = 10000 - 0.0246

Wizard of Maths - Rakesh Yadav Sir

g’ %?&16

59. {¢} According to the Question.

, 9.5x0.085

-

0.017 x 0.019
’95 x B9 x 100

= 17 x19

= 5x5x100

= 5x10 = 50

60. {b) According to the Question.

=1

=1

= J248 +‘.§‘

. (d) According to the Question.

= Y1000000 A‘x:wéw = 104.04 + 1.0404 + J0.010404

10404 ’ 10404 ' 10404

= + +

100 10000 1000000
1 02 102 102

10 100 1000
= 10.2+1.02+0.102 =

=

11.322

62. {c} According to the Question
= J4096+J04096+J0a)4096+J0.00004096

\hoo \J o V’looonoo

64 64 64 64
—_——+t— +

10 100 1000 10000

= 6.4+0.64+0.064+0.0064 = 7.11

4096
100000030

63. {c) According to the Question.

3

— 2 ofx?=126.15
5
3

o 2. x2=126.15
5

126.15x5
= 3

= x*=21025=x= 145

64. {a) According to the Question.
As we know that the square of 252 is
which is near the value of 63522

63522 - x = 63504

x=18




65. (d) 69. (d)
According to Question According to the Question. 1- 1 - _9_1_ -
1 101
420184 2 3 10 + —
315046 = 1 S .3 1 10
—2]1682 1+ —of —+1— -
29] 841 1 6 2 4 a*-b
29 1-— - — I a? - b? = |a + bjija — bj]
29 29 2 a+b
—42—
5 3 {a + b)la - b)
P ey x =
Factors are 2, 2(3),(2), 29, 29 = 172°5 3 s a+b
It should be multiplied by = 6 E ® 5 + I = {a-h}
66. () s _ 111 91
X *+ } 2 :> S
According to the Question - 2 101 101 _#
= 175616 + ¥0.175616 + ¥0.000175616 3 3.9 ) & A
—t 0 b o
JI75616 | [175616 [ 175616 4 4 = “X
= {1000 " ¥1000000 * {1000000000 3 101 % em
56 56 56 = TX— = 2 72. 40 o7
= 10 100 1000 31 According td" the Question.
= 5.6+0.56+0.056 = 6.216 70. (b) R
According to the Question. . 7
67. ()
According to the Question. = 1+ 43 w% (1042)

5 5
= 3 =
3+
2
-
3
3
= =
3+9

68. (b}
According to the Question.

1
1

If 2=x+
1+

=
=
=
21
x= —
= 17

e Squaring both sides
’ =P = 196

73. (¢
According to the Questicn.

1 4 5
3—-— of — 2 1
1 : 53 61 _(1_0“_)
4—+——(—-+21—) 3 2
3 5 10 5
13 4 b
—-——_><_
- 4 5 6 (5,3
13 (3 106] 3 2
— X5 = —
3 10 5
13 2
4 3 5
= 4 3 _~
65 (3+212) 2
3 10
71. {c) According to the question 3-8
- 12 5
65 215 o
1+ llx_l-o- 11—]— llxl— 11 ?__10_
10+E 10+E 10+16 10+E}
31
10+ — 10+ — = ——
10 10 650 - 645 2
30
1
Let 14+ =&=a
1 101 31 30 5
10+ — = —_— = —
10 12 5 2
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76. (d) According to the Question

31 5
= - 1 1 1 1 1
2 2 = -——+-——+—-+L+—+—
30 42 56 72 90 110
26
= — =13 11]111]1111
2 = —m—t= -t —_—— -
) 566778899101011
74. (b)
According to the Question = 1 = n-s = 6
—_— 3 11 55 55
P P P
4 |l a 2172 a 6 77. (b} According to the question,
1 ' 3 5
—-'.)1'4-l [=—+—
3 4 6
18 5 1(5 1 =282
a |4 202 12 4+ 5 10
= 1 13
[P I = 3:[@+5+6]
2 3
4 1
I = 3+|:-x—:|
{13 {5 [30-1}}] 5 6
4 |4 2\ 12 30
= -
3 o= 3x _
& H
45 0
II = ?
[13&{5 1 29}]
o le e 212 ui = [3s(4-5) N
13
- 5
13 30-29
—
4 24
= 13
6
[13‘ 11\
= L4 24
13
13 24 6 36
—_— M — =
= 4 1 13
. 1 and IV are equal.
75. b} . .
According to the Questig, 78. (b) According to the question,
Q101xQ1 03-3x01x02x03 1+ [1 +1eflet+ {141+ 2)}]

02-02(:3-03x01
’ 1
= [(a+b+c) (a?+b%+c? — 1+ [1 +1= {1 +1+ [l + —)}]
- gbh - be - ca) 2
(0.1 + 02+ 0.3 -320,1x02x0.3 3
:1+[1+1+{1+1+5—}]

={0-1|3+ O2F+03F-0.1=0.2-02x03-03x0.1
2
— 1+|1+1+ l+E

101+ 02+ 03O 1P (027 + 03 -01x02- Q203 -03x O1)|
(1017 + 2P + 037 ~ 0.1 x 02025 03 - D3« 1)

=0.1+02+03=06
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79. {a)
According to the guestion,
1 1 1
— e —X— 1
333 sl
1 *1 %
3 "3\;
1
3 Ll
3 ¢
= T‘-; 1 g

\ﬁ?

1
1
2.9 9
3
1
- 3 _1
3 9
S
= 9 9
80. (d)

According to the question,

3

2
7 5 3 3
—4+—x(l+ 1]+-——-— of —

15 8 \3 4/ 7 4 7
6
11
4,7 7,533
= 11 8 12 7 4 7
6
_ 3,8,7.5.%8
2 7 12 7 9
20
= 1+—9-
29 2
=5 "%
81. {d)

According to question,

336-2.05+1.33
— 3.363636...-2.050505...+1.333333...
= 2.646464...

= 264




82. {a) According to the question,

Q9= Q9x 09 + 02x 12x 02+ 03% A3 x QU3-Ix 09 A2x O3

Q9= 09+02x 12+ E3x 03 -09= 02-02= 03 -03Ix Q9

As we know that,
a*+b*+c®-3abc = (atb+c)(a® +b* + c® - ab-
bc—ca)

(09)° +(a2)3 +(u3)3 -3x09x02x03

(Q9)2 +(0-2)2 +(u3)2 —09x02-(02x03~03x09

(119+0.2+aaj[[og}2+(a2}2+(03]2-09x02-02x03—Mxn9]
(0.9]2 +{w2+[a3}2~u9xm— 02x03-03x09

=09+02+03=14

83. (b)
According to the question,

(01)*f- o(0.13)"}

1Y 16-1)°
9 90

81
1 3
= —x=
81 4
1
= 108
84. (o)

According to the question,

3
o 2
1
2
3
=:>Ex
3
=>EX
3
= 2
3
= 2

85. (c)
According to the question,

[09-{23-32-(7.1~54-35)}]
= [09-{23-32+18}]
= [09-09] =0

86. (b According to the question,
(32)°+(79)*~(1 11)°+3x32x79x111
We know that,
a®+ b+ ¢ - 3abec = O
When {a+b+c) = 0
Here, a = 32
b =79
c=-111
a+b+c =32+ 79~ 111= ¢
(32P+(79P—(111P+3x32x79x 11 1=0

87. (b) According to the question,

(5 3(25 15 9]

— 4 — ————— e —

2 2/la 4 a
8(25-15+9

s 3 -\

2 4

8 19
= —X— =19

According to the ques
(0.2x0.2+0.01300.140.1+ 0.02)
=

(25}

1 47
= 'k

6+ 47 5
= 12 = %5
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90. (a)
According to the question,
1 . 1 . 1 . 1 1
u— + —
8 g2 8% 8t &°
1 1 1 1 1
= —t—+—+—+
8 64 512 4096 32768

= 0.125 + 0.015625 + 0.00195313 +
0.00024414 + 0.0083052 = (.143

91. (d) According to the question,

{(12 1)2 -(s. 1)2]+L(0.25)2 +(o.25)(19.95)]
J (}2&:\%2.1 -8.1)

E.zs)(w.gs)
', [a®-b*) = (a+bj(a-b)

(oF

4 %100
25

=

2x10
.

92. (b}
According to the question,
0.051x 0,051 % 0.051 + 0.041 x 0.041 x 0.041

0.051x0.051 -0.051x 0.041 + 0.041 x 0.041
We know that,
a*+b*= (a+b)(a?+b*~ ab)

(0.051}3 + (0.041]3

= (0.051)2 + (0.041]2 -0.051x0.041

[0.051+0.041][{0.051)° +(0.041)" - 0.051x0.041]
(0.051)7 +(0.041)° -0.051x0.041
= 0,051 + 0.041 = 0.092

93. fa} According to the guestion,

5411+ 419 + 29+ Va9
= Ysefir+194+v20+7

= J5+y11+ 19+ 36
= Y5+y11¢419+6

= J5+411+ 425
= J5+1+5




99, (d) 105. i)

= 5+ \/1_6 According to the question, According to the question,
= J9 =3 J0.00005746 3/1440
3] 480
94. (d) 5746 2] 160
: . = S
According to the question, 100000000 % 28
2 2 2]
75.8) ~(55.8 230
%)_ [ a-br=(ablavblf 758 0.00758 2] 10
20 10000 51 5
1
(75.8+55.8)(75.8 - 55.8) 100. {b)
20 According to the question, Factors are:
2 2 3x3x2x2x2x2x2x{
(131.6)x 20 J(o.ma) +0.404x0.798 +(0.202) +1=7 o~ perf be it should be mul-
p " 1316 = - tiply by 3x2x%x 150
J(0.798) +(0.202)" +2x0.202x0.798 + 1 Sum = 14
95. (by 106. (b)
According to the question, = ’(0_793 + 0‘202)2 + 1 According t question,
V. = a2tz 90%A spperfedt cube.
= 4-v0.04 [+ (a+D)® = a2+ 2ab) In thisiquestion go through option to
4+ 30.4 ’ 1 2 1 e valuable time.
= ( ) + ption: (b}
4-02 - = 300
= T ocas = =2 9MeB00 = 27000 _
4+0. 101. (o) erfect cube of 30)
3.8 According to the question, @ 107. (a)
= =08 ' According to the question,
4.632 J11.981+ 71,2996 8 . 4
96. (b) 514
According to the guestion, — 11981 + 114 x7 3
1000 100 : 5+ 1
J0.00004761 A 3+%
4761 5
100000000 9
5— 79 79
® . 0.0060 »— 14 14
= loooo ~ 5+ 35 7" 9 79 =1
97. (a) 3+ 3 14 14
According to the question, 102. W _
4 108.(d)
JE -1 ultiple of 11 whose square roots are According to the question,
= 1 ole number.
\ 2
Rationalize above equation, st: 11 x 11 = 121 = 121 = 11 5 2 039
Second: 11 = 11 x 4 = 484 * 2 )
V2-1 2-1 3+ 3
X = J484 = 22 3+3
2+1 v2-1 L A There are only two numbers,
2+1-242 A V¥ 103.(b) - —-2—2
= 1 . According to the question, 2+ x 0.39
: : As we know that 324 is a perfect square 3+£
= 3-2x1.41 ' of 18. 11
= 3-2.828 = 7 .. 0.000326 -~ 0.000002 9
= 0.000324 = D)
98, (b 2+2250.39
According to ¥hevquestion, 104.(d) According to the question, 39
7 . 2
e =
= 875 24 .2.2_.
100
1 1 '
1225 - E = F— - = - 200 - g
5329 73 125 5 222 111
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109.(d)
According to the question,

1
b+

1+-—
2

]_+l 2_ E
= 3=>1+3:>3

11

2
0.(c)

According to the question,

= 8.7—[7.6— {6.5 -(s4-43- 2)}]

= 87-[7.6-{6.5-(5.4~23)}]

= 8.7-[7.6-{65-3.1}]

= 8.7 - [7.6 - 3.4]
= 8.7 - 4.2

= 4.5

111.(b)

According to the question,

As

we know that

a+hb+c= 0then

a?

11

=

+bh*+c*-3abec= 0
({0.111)° + [0.222)% + (-0.333)® -
3x0.111x0.222 x (-0.333))* = 0

2.(d)
According to the question,
1 1
1—+1-—
4 2
1 9
— 3] —
15 10
S 3 5 2
.= ZxZ
4 2 =
24+30-27 5
30 30
5 30
-
6 5 5

11

3.{b)

2-5 E_E

=30 - ;m 0+12+45

15+20- 40+10 624

According to the ques\\ %
1 (\¢

30
15 -30 -3
=7 o
60 25 10

114.
(b) According to the question,

= 0.63+0.37 +0.80
= 0.6363...+0,3737....
= 181

115.

{d) According to the question,

Let a = 4.53 - 3.07
b= 3.07-215
c= 2,15- 453

a+tb+c =0

oat+ b+ ¢ = 3abe

116.
(b) According to the question,

171722174
= +

15 15 15 15 15 15

-GG 5R

117

, 0.25 ,00
00009 0.36
’25 100 ’9
2 x % J—
= 9 36

510 3 25 1

X — —_ 8-
36:3:3

118.
() According to the question,

JZ
= Vs

= 3

= 0.66666.....

=
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+0.8080...

;}' ) According to the question,

119. ()
According to the question,

= 32 - 128 + 50
= J16x2-J64x2 +25x2

= 4\/5—8JE+5\E

2 = 1414

120,
(d) According to the question,

= JT5B) o)

49-45 = 44 =2
121. »
() Accordinggto

= 440 + +/0.000004

= 20+ 02 #0.002 = 20,202
122. (8 Acckding to the guestion,

,ﬂﬁ-_r 7

e question,

&f sJ_“J_ 543

= 8J3-2/3-53

3 = 1.732

123.
{c} According to the question,

48.4 ’ 100
e x
0.289 =

10 220 12
= == faad
= 17 = 17 17

124,
fc} Let the number be = x
According to the question,

= x? = (75.15] - (60.12)2
= x® = (75.15+60.12)(75.15 - 60.12)
= x* = 135.27x15.03

= x* = 2033.10
= x = 45300
125.

(b} According to the question,
= x*+y*= 386

= (57 + 41" = 386
= ) =386-25

= ¥y'= 36l = y=19
126,
(@) According to the question,
= (22 + {150 + {-7p
= 10648 - 3375 - 343 = 6930
ALTERNATE :
a =22
b =-15
c= -7
a+b+c=0
S0, a®+ b*+ ¢* = 3abe
3 x =15 x -7 % 22 = §930




127. (¢}
According to the question,

Al

D e T S ¥
Factors are; 2x2«2x5x5x3x3
the smallest number multiplied by

= 5x3 =15
Sum of the digits = 145 = 6

{a) According to the question,

2
= —X— = 2
1

129,
(d} According to the question,

2 2

11 15 ( 11 15}
=>|4—+—| -|4—-—
[ 15 71) 15 71

[11 15 11 15( 11 15
=t — 44— —— [j4— +——F—+
13 71 187U 15 7

11 15
::»(2 x4 —)(2 X -—J
15 71

(2 o 15)
= W—x2x — =
15 40

Lt 2

130.
{a) According to the qlgti@n

0.1x0.1x0. 1+ou§§§2x002
T 0.2% 0.2 x 0.3 0.84 59.04 x 0.04
R %J

v-h_

=
0.008 + 0. 000564
3
0.001008

=
0.008064
1008

1
> — = — =012
3064 ~ 8 .

J

i

131.

{a) According to the questmn
3 1

=5-—-x3— =19
x 2

S5x+3
:[ }" = 19
X

7

2
5x+3 _ 38
x 7
= 35x + 21 = 38x
= 3x=21 =>x=7

132. (¢}
According to the question,

=

2
1
= (JE+75) | % [a + b)® = a® + b? +2ab]

NN e

- L - 4+1+4
2 2
IR
2 2
133.(d)

According to the question,

= (098)°+(002)°+3

%+b3+c3+3abc =0

134,

5aft‘r:c:or ng to the question,
£ :> 71 =290 +27x15 + 8 x 4
M% :‘p 2059 +405+ 32 = 2496

F 135.m)
‘%f According to the question,

= 0.05x5-0005x5

= 0.25 - 0.025 = 0.225
136.(a)
According to the question

o2 -

] ,02) % 0.
50.98)° +{0.02)° + 3x 0-935__:%5

Eﬂ%—aﬂb%mam}]

“.-Og}"%;: (IP-1=0

i'02 %02 % 0.2+ 0.04x 0.04 x 0.04
= 04x0.4%x 0.4 +0.08x0.08x0.08

%lo‘oos +0.000064

= 0.064 + 0.000512
0.008064 %’ 8064
64512 164512

= 3-§ = §=0.5
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137.(b)
According to the question,

4225 65 55

= 144 = 12 12

138.{a) As we know square of 825 is
680625,

. The smallest number added to

680621 to make a perfect square is 4.
139.(d) According to the question,

392
196
98
49

|~a ool
-3

1

P P
Factors are: 2 x 2 N@X 7Tx7
Smallest number is = 2

140. [C}) We know that square of 47 is 2209.
. The smallest number added to
2203 to make a perfect square is 6.
141.(a) According to the question,
= (975)® — (585
= (975 + 5B5){975 - 585)
= 1560 x 390
= 608400 = (780)) = 780
142 (d) According to the question,
Let two numbers are X & y.
- Rkty= 20 ... {
x-y= 8 ... {ii)
Solve eq. (i) and eq. (ji)
x = 14
y = 6
— y2 = [14'2 - (6'2
196 36 =160




143.(c) According to the question,
Let the two numbers are x & y.

LR EyE o= 100 v li)
x?—y* = 28 ... (i)
Solve eq.(ij and (ii}
x= 8§
¥y= 6
SoXty = 846 = 14

144.(b) As we know the cube of 9 is 729,
Therefore 19 must be added to 710
to make it a perfect cube.

145.(d) According to the question,

9 13 o
34+ = —— Satisfied
13 48
146. (¢} According to the question,
I
1

= 1+
1+

l+5
s 5

(3.63 +2.37)(3.63 - 2.37)

= (3.63 +2.37)

[-a? -
= 3.63 - 237 = 1.26

b*=(a-bja+b)

148.(d} According to the question,
First number is 8 = 64
Last number is 317 = 961
', Total number are = 31-7 = 24
149.{d) Let the four consective natural
number are 1, 2, 3, 4
According to the question,

= 1x2x3x4 = 24+] = 25 = 52
. 2x3x4x§ = 12041 = 121 = 112
- P=1 '

150.(a} According to the question,
= (236)1° x (1p)e18

:> (23’0.16 * {24]0.I&

=, [2]|_2a x [2]0.72

= (2}|28-07’2 =Y ‘2]2 =
151.(d) According to the question,

( 1 1 1 1 1 1
= |t et —— ———
35 57 70 911 1113 13.15

=317 0s %

152.{c} According to % ! estion,
= 53 x 87 + 159x21'@?§$x25
= 4611 + 3339 + ¢ 10600
153.(c) Accordmrio Lh questlon

= 6 2 5% aegﬂwg =6

NOTE; unting the digits of

squafﬁ« rogt we make pairs first.

Mﬁhen; thvigilglts will be equal to nurm-
Her olpairs.

15 Ae we know that square of 95 is

25. Therefore smallest number

which should be added to number

% 8958 to make a perfect square is 67.
- 55

(¢} According to the question,
J_ 8 x H

156.(b) Let the number of boys = x
the number of girls = y
According to the question,

x-y*= 28
X = y+2

X-y=2 ... fii}
From eq. (i}
X*-y= 28
x+y (x-y)=28
(x + y)j»2 =28
X+y=14

40y yguuy
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157.(d} Let the three consecutive num-
bers are x, x + 1, x + 2.
According to the question,

= X1+ e+ 2P = 110
= XFHXTH1+2x+x2+44+4x = 110
> 3+ e+ 5= 110
= 3 +6x-105= 0O
= ®X®+22-35= 0
= X*+7x-5-35= 0
= X(x+7-5x+7) =0
= X+ k-5 =
= Xx= 5&-7
(.. ) valuBpannot considered)
. Shal&y Jumber is = 5.
158.(¢) ¥ to the guestion,

wholenu ber is 0, 1, 2, 3,
et of two whole nurnber is 37.
\"- F‘actors of 37 is = 1x37
;Numbers are = 1, 37

%%The ¥37-1 = \/_6 =6

(c) According to the question,

’%&Ess’ ?(333) +(333)° +(334)° ~ 33330333 x 334

As we know that
a'+ b* + 3 - 3abe

éa+b+c)[(a b) +(b-c) +(c~a)2]‘

1
5 (333 + 333 + 334)

[(:m -1{53)2 +{333- 334)2 +(334~333)2]

- %x1000[0+1+1]

=éx1000x2 = %]000 = 10
160.(c) Let two numbers are x & y.
X +y?= 146
25 +y2 = 146
yi= 146 - 25
¥y =121
¥y= 11

L ¥ = (11 = 1331
161.{(b) According to question

1944
72

186

43
1

0

o bol s

b

7

9

ol

Ll

1

_ —,
Factors are=55,73 « 52323 x 573
. To make a perfect cube it must

be mutiplied by 3




162.{a) According to the question

3000
- —
3
= 1000 = 10°
NOTE: In such type of question go
through option to save your valu-

able time
163.(b) According to the question
21864
21432
61216
6136
616
1
,'-I\ /'__‘-"".
Factors are : 2x2x@x6x6x6
Here n = 2
164, (d) According to the guestion
0.125+ 0.027
=
0.25 -0.15+06.09
0.152
= .19
= 0.8
ALTERNATE:

a*+b?*=(a+h) (a2+ b’-ab)

(0.5)3 + (0‘3)3
(0,5)2 -(05%x0.3)+ (0.3)2

=05+ 03=08
165.(d) According to the question

(7.5)+1
= (7.5)2-65

(7.5)+1
= (15)2-

| a®+ b® = (a+ b)(a® + b* - abj

(7.5+1)[(7.5)2+1-7.5x1]
= (75)1-7.5x1+13

= 8.5
166. (b} According to questw

=
az+b2- 2}B+a2+b2+2ab
=
a2+b2
2{a%+b?

a?+b?

167.(d} According to the question

’0.081 x 0.484
= Ruihuin el el
0.0064 x 6.25

922

8x25

= 0.99
168.(c} According to the guestion.

= J13+/1300+/0.013

130
0000

=

= 3.6+10.fj3 +

3.6+10%3.6% ' = 30.714
b+ x3.6+ = .
= 100

169.(c} As we know that the square of
316 is 99856
170.(c) According to the question

= (68 - (32
= {68 + 3268 - 32)

{.. at-
= 100 x 36
= 3600 = (60 = 60
171.{a) According te the qu

39-8
12
650 -9 - 636
30
N TR
12 5 2 2

. Least fraction number should be

1 1
subtracted is: 15-2- -15 = > (least

fraction number)
172.(h) According to guestion

= ¥0.014x0.14x =0-014x0.14 Jy
Squaring beth sides
= 0.014x0.14x = (0.014)2=(0.14)*xy

X

X
= ;= 0.014 x 0.14= ;- 0.00196

v = (a+ blia-h

) @

173.1a) Accroding to the guestion

= 5+\}11+\}19+d29+\l¢5
= 5+\}11+J19+J29+7
= 54114419+ V36

= J5+411+4191+6

= 5414425
= 5+ V16445 + 4

d5+ 11+5

) F961 = 39
175, (Q\Acco 'ng to the question

M) 4412016
2.1x1.6><0‘21

0.7056

0.7056
176.{a) According to the question
= 0.12x0.01=%0.01x10° = 100
177.(d) According to the question
3.25x 3.20-3.20x3.05
0.064

=

=

10.4 - 9.76 0.64 "
= T 0064 — 0064

178.(d) According to the question

[(0'1)2_(0’01)2]”

0.0001

_ [(0.1 +0.01)(0.1- 0.01)] "

0.0001

0.11x0.09
—_—
0.0001

=99 + 1 = 100
179.(a) According to the question
= 0.5%5+0,25%0,5+0.5x4+0.5x0.75

= 2.5+0.125+2+0.375 = 5
180.{d) According to the question

(5+5+5+5)+5
3+343+3+3

=

205 4 2
5¢1 ~ 10 s

181.(c) According to the question

{100 -1)(100 - 2)(100 - 3)............{100 ~200)
10099 =98 x.......x 3x2x1

1=0x1x{=2)....... {—100}-0

=

— 99x98x7 X
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182.(a) According to the question
=09 x09x09+0.1x01x01

= 0.729 + 0.001 = 0.73

183. (b) According to the question
Jo.oog x0.036 x 0.016 x 0.08

= 0.002 x 0.0008 = 0.0002

‘9 *x36x16x8
= 2x8Bx2
= 3x6x2 = 36
184.(b) According to the question

J11 64 s Js 64 144
— X —x1. — X —
= {2 125 = Y2125 100

1 8 12 24

25 10 25
185.(a) According to the question

= 2,/5_4—6\@—- Joe

2
= 6J6 -2y3%9-4J6

= 6J6-2J6-4/6 = 0
186. (d) According to the question
V24 + 216 2V6 + 6v6

= "hke T 4k

sl _
6 =

187.(d} According to the question

1104 1 ’441
o 2l
= 2 — s

= 4110.25 = 10.5

188.{c} As we know that the square of 32
is 1024
189.(c) According to the question ...
The square of 11 = 121
The square of 17 = 289
The square of 18 = 324

)
: Perfectsqua:ehebetween 120&‘%)

11 12 ...

o 7 <2x - 317 AYS
Check through o&gj"{go save your

SO,
% - Ha@f- 3 = 15
= 7«1 isfied)
191. (c) Accdry “to the question

= x+x= ‘9450

= x(x+ 1) =49 = 50 =
= L xXx=49

192.(d) According to the question

= IJo.000064 = o008 = 02

2450

E
iy

193.(b) According to the question

= :{/15612 +4154 + /225
= %15612+154+15

= {15612+ 169 =
= 15625 = 25

194 . {c) According to the question

= Yo.000125 = 0.05

195.(a) According to the question

= Shooo *+ ¥o.008 - J0.125
= 10+0.2-0.5 = 9.7
196.(b) According to the question

675
135

15612+13

(] (51 N rJ-|IU1

W] Y] (U] | a]
-1

- ——————
Factorsare=5x5,(3x3;3

. It must be multiplied by 5 to make. ‘s

a perfect cube,

197.(b) According to the questmn
As we know that the cube of 12 is
1728
. 8 must be added to the f‘?20 to
make a perfect cabe

198. (b} According to the guestion

4320

._.
™
iy
o

'S
tea]
pe]

g

(]
=

ool wfpofsofeofesleo

Il

Factors are :

—— e,
3x 3x 3 x 5x 2x 2x Sx Bx 5
. It must be multiplied by =2x5x5=50

%9 [c} According to the question

=>1+—~
14-

13 34
1+_f_5_ =1 = = -

Wizard of Maths - Rakesh Yadav Sir

200.{a) According to the question

2l 2 7.18
- .3 11 3 11
34— 1 3+—1_
1 3.}1
34—
1 10
3+—
77 -39 38 33 38

3~ 337109 = 109

203.(d) According to the question
3.2 - 0.008
= B2F+0.64:0.04
(3.2 -{0.2)°
(3.2F +0.64 +0.04
|- a® = b* = (a-b)(a*+abth?))

(32-02(3.2% + (022 + 32402
322 432x02+ { 0‘2)2

= 32-02-=3
204.{a) According to the question

lﬁ.[ﬁ] 1 1 1
3 4| 10 3 4 10
== — =
5 3 3 4 5 3
—_——— — % — _r
3 4 4 5 4 5
40-3
T 120 37 20 37
= »— —_—
25-12 120 13 78
20




205. (b} According to the question

G.03 11 1
+— of —
3 5 9
(10 5} 15
b PP
= ix 3 2 2 4
3 1 1
-t —x —
3 5 9

3 45
. .8 8
6 5 4 ¢
= <X = —x2
3 1541 3"£
45 45
4 8
—X=X— =
= 376 16

206.(b) Let the 3 consecutive positive ntumn-
bers = x, x +1, x + 2

According to the question

X2 + (x+1)2 + (x + 2)% = 365
X2+x*+1+2x+x2+4+4x = 365

3x7 + 6x =360 =0
#+2x-120=0

® o+ 2x = 120

Xi{x+2) = 120

x (x+2} = 10 x 12 = 120

L x=10

Sum of the numbers = 10+11+12 = 33
207.{a) According to the question

= y8+ \}57 + \138 + \I108 ++169
= \JB+\JS7+\J‘38+ 108 +13

= y8 + 457 ++{38 +

= q'8+ 57+/38+11 M\F\
= J8+/57+§49

LUgsue iy

P-9%5 ... (i)

pz + q’ = 55 “”---{ﬁ)

L {paF =p*+ o~ 2pa
(S}t = 55 - 2pq
25 = 55 - 2pq
2pg =30 = pg= 15

209.(d) Let two numbers are X and y
According to the question
Xy=45
Xy =4

L oE-yE =X+ v 2xy

= R+ Y=yt 2y

= x*+y* =16+ 90

= x2+y =106

210.(b) According to the question

A 127
= -
343

3’343 - 127

= -

343

216 6 1

= e =]

343 7 7

211.{c} According to the question

0.3555 x 0.5555 = 2.025
0.225 x1.9775%0.2222

=

3555 = 5555 x 2025

212. (b} According to the que
=  100%10-100+2000+100
= 1000-100+20 = 920
213.(d) According to d

547.527 _

ording to question

0.324 x 0.081 x 4.624
1.5625 x 0.0289 x 72.9 x 64

J 324 x 81 x 4624

15625 x 289 x 729 « 64

[Count the number of digits after
decimal in each number in numera-
tor as well as in denerninator]

/324 x Y81 x 4624
J15625 x V289 x V729 x V64
18 x 9 x 68
125 x17x27x 8

3
=—— =0.024
125

215.(¢c] According to question

J0.25 x 2,25 = (.25 x 42.25

=0.5x1.5 = 0.73
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= Jasxi7iisxazzz | ° @4

216.(b) According to question
- 418225 =135

= 18225 + 182,25 + 1.8225 + J0.018225

18225 18225 18225
=135+ + +
100 10000 1000000

135 135
~135,135,185 135
10 100 1000
= 135+13.5+1.35+0.135 = 149.985
217.(b} According te question

218.(b)

= 1212201

(1101 2

12201 =111

'1212
J121.2201 201

=11.01

1101

100
219.(a) According to question

[0.064 x 0.256 x 15.625
" Y 0.025 x 0.625 x 4.096

_ Jo4 x J256 x 15625
J25 x J625 x V4096

_ 8x16x125 _
5%25x64

220, (b) Let the numbers be x and y (z >
¥) According to Question,

2 2
x“ -y

(x+y)(x-y) =45

Make factor of 45

- 45

15x3
Ix5
45x1

3 pairs

221.(a} According to question,
3" <27
(3")3 =@

i3

3 =0

—

4]

=3

5 WA

=9




222.(c) Take a first part 224.(a) Take first part

227. (a) 31~[21+{1l_1(11_l_1]}]
2 |73 s 20273 6

42_1 30 1 60-7 o Sl .1 209
7 2 _7 2 _1* 2% e T
1 1 7 8 49+16 65 = T " 78
35"'1; E"’; 14 3—+1— E+; R _7__ -9-‘ E_E(E_i_lJ
Second part 27 2 |4 |4 2\2 3 6
1 R 116 - 63 ‘o fs 1.
) — = — —— e X
2+ ! 2+ ! 28 53 14 53 - 5 P PR
1 1 - 495+16 = —x — = —
2+ + = 28 65 130
s_1 24 14 Y Te 31 7 Te 4
S S Take second part = E 14—+—~ =.2__ ZXE
L ]
1 1 1 . .
- - - ] \ 1
24 15 2+% 2+ 22 1 = 1 - - %._
2'1'5&- = 53 24 . 24 - 2
24
2+
2 1 25-1 228,
1 s3 5_1 i 3 2
180 = 130 5 353 (2033, 2 +(Ex—
o 3 5 5§ 5 5 5
According to guestion, .
1

53 53 - - T = __ 18 18+ 18 2 2 2

_ 1 = —_— P Wy — w—
65 130 24— 2+~5% @ 5 5 5 55 s
24— i
. X130 1w, 24 24 1812 18) (2} (2)°
355 (5f (2
5 s) \5) (s

223.(c) 4- : 24 106+ 130 5 2
o SN CE N
3+ N 5 5 5
24—
4 1 2 3
s 229, (b) (_;:IJ'F( —EJ*' (—R—H]-&”
= 4-1 1
I+ 1 [1 n ]
3+E * _n+1
+ *\

1
4
I\ 3+ s ry {n+l—1J (n+1—2J (n+1—3
= + +
5 5 n+l n+l n+l
1+ I+ o= - 1+ L -
3.2 D A T T +[___"+1 ”l
1+ — P +1
9 19 n

19
S - -
= 4T m4 1.2 28 Lt N L
14— 29 29 n+l n+l n+l n+l
3
1 1 !
n+

31 1 1 = ——(@m#{n-1)+n - ... 1)

= - n — = - 226, — -

4 s s (c} L8P [ pa 1

Accordi question . . n (n . 1)

1 - " 4243 .n=— %

Py part = 10 minutes 142970 1+ 2'(“'5)_ 2

1 part = 80 minutes

3 3 - U R LY _ L (r(ne))} n

g part = 80 x s = 48 minutes b 14220 88 = 1+2%°P -1 n+l 2 2
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1 2 1 3
230.(a) S=+1-x— 10+
3 9 4 -1
5
16_1! 1 10+ —
3 9 4 —
5
15
) E?Exlx[lo _]
3 9 4
16 9 1 55
= — —_— = K
3 11 4 4
48 1 55
= —lexT 15
1 3+48

231.(d) 3_J§=(3_J§)(3+J§)
3+J§ _ 3+J§

9-8
Now, According to question

= 3+\84+3+8 -6-4J2

235.(a) Number of digits in
62478078 = 8
*. Number of digits in its square root = 4
1
236.(d) If n'—tn+-4- to be a perfect square

r=2 =11

2

1 i1 1

(If t=1)n%—n+ — =n?-2xn%x —+—=|R-—
4 2 4 2

. 1 ) 1 1 112
t=-ln*+nt+ — =nH+2xpx —+ — = [rH—J
O t=-nfent 2 a ("2

237.(d) 33 - 4435
=  33-2x235
33-2x2x 7«45
28+ 5-2x2.7 x5

= (2\{';)2 +('J§)2—2XQ\E£\E

(25-

= 6+2/8 -6-4y2
- 2yB-a2 -af2-4v2 =0 = (297 -Vs)
232.(¢) Y24 + 216 238.0) J156 25+ o 0.0361
.lc
396
361
J2x2x6+\/6><6x6
- J4x4x6
2V6+6J6 8 0 "100
- — = 2 = -
476 4 09-0.19 =12.4
239. (/24010000 = Y2401 x 10000
33 gl 1 = 49%100
233.(d) 43— + 9= %23 A
4 7 [+ Again. square root
225 [64 [o8 49x100 = 7x10 = 70
- + . J— X2 —
64 7 9 24010000 = 70
240.(c) Greatest 4 digit no. = 9999
225 7 99
- K o——
64 64 9 f 81 9999 |
1899
5x7 3 189 1701
- x 2 )
8x4 16
Greatest four digit number is a per-
234 JS— x4x2+ydx4x3 fect square = 9999 — 198 = 9801
34.(b) 241.(a) {a - b)? = a? + b? - 2ab

J2x2x2+2x2x3

4(J‘5+J§)

]
| B
I
b

1 2 1-2xdax — [')
6a2-1 =[{4 —2x . +
a a ( a] a 2

32 9
Number be added = | = | =« —
2 4
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242.{a) (J43+15=)3
= (Jeas 225)3

()’

= (17 = 4913

12 512
243.0t) J4— =J—
125 125

2XQ 2x2x2x2x2
A\g x5

- =16
244 X [*2{-4 (-aI}]+5 [-2{-2(-a}}] = 4a
[~ 2(4a)) + 5[~ 2{2a}] = 4a

@ [- 8a] + 5f- 4a] = 4a

- 8ax - 20a = 4a
245.(a)_4

- 8ax = 24a
24a

K= ——

8a
x=-3
728 |42

6
82| 128

Least no. must be added is a perfect
square = 1728+36 = 1764

1764 is perfect square of 42.
246.(a) a=64,b =289

Ja-8. 4 -
(T T

= (fser7 -Jl?-a)%

1 1
- (EB-B) g
247.(c) Jed4008 = 253

_2]64009 |253
14
5

#5[230
225
1
1509
X

by square root method
248, (b) Let the no. of days be x

According to question
xxx =361

x2 = 361

x = 19 days

[2=7]

3



249.(b) 107 025

= 0-2x05
0.5
= ;’ma = 0.0005
32 a3 N
0 BV e
3k Vol b foid
“Joiva Vo-va Jerdz Vo2
Yo Va-2
¥ 33+92 33—;}2
_3B(-B) (46 - )
3 4

. Y6 (V2 - 2)
1
= 2f3-J6-32+V6 +3{2-2/3
=0
4-0.04

B0 o

4-02 38 38 19 os
T 44+06 46 46 23 O

252.(0) J0.05x05xa =

Squaring both sides
0.05%0.5%a = 0.5x0.5x0.05x0,05x%b
a=05x005xh

5x5
10 %100

0.5x0.05x fp,

a
b

a = 0.025
b40 '

{a) Let the no. ofstudmtsmarowbex
According to question
X * x = 1369

x* = 1369

x =37

253.

254.(a) (J§+J§)2=5+3+2

(\/6+\5)2"6+2®8+2JE

V15 > iy
‘=J_ J3 Yo W2
1 al i rrect
255‘(d] 2 4
2 o2
2 | 5046
3 {2523
29 b
20} 2
1

For making it a perfect square 20184

>

%ﬁ
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should be multiplied by 2x3 = 6 261. (d} According to the question

256.(0) x = V3 +2 46
xX+y=— ... {i)
13-z 3
JSM_.J' ]3—32 14 .
X-y= ?......{u]
1
il V3 -2 Solve equation (i) and (ii)
e 16
X = (x-—J +3><x)<—[x_ i | X 3 3
x3 x x x
R E_Eﬂ_%l
(\B+\{_ \E+ ) 3(\6%(5 Ji_h\{é) v 3

to the question

262, (d)
qﬁb ) +(0007)°

49013)?’(0007) ~0.007x0013

013+0 007)((0 013)'+(0.007) J

- (242) +3(242)
= 16V2 +6v2 = 222

257.{a) {1001}

= 1001 x 1001 » 1001
1002001 x 1001
1003003001

—(lsgis_ = 0.02
25 @ 263. (b} According to the question
1 125

-6

625 = 5x5x5x5
Smallest number

-0.007 x0.0163
(o 013 +(0.007) - 0.007x0.013

258. (b)

[l
Ly

119

259.(d) (V6 +10 J§§)
17(H.C.F of two
ﬁ.‘ J3_5) number)
~a=17

@J_ (J_ J_)) 264.(c) iz+J12+12+......
J__J_)_J__J_) Consecutive factor of 12 = 4 x
3
- (46~ B3 (- )

Equation contain positive sign
So, maximum number is answer
=6+35-2./210 -10-21+2 /210

4 is answer

=41-31 = 10 265.(d) x= ¥7 +3
260. (b) e
1 ~ 1 Cubing both sides
as— L 14 11 ¥-FP-3Fxxx3(x-3)=
b1 24~ X*-27-9x(x-3) =
c,,% 343 B-9x+27x-34=0
266.(c) 0.3 +0.5 +0.7 + 0.8 = x
_ 16
2 SRR
Found the valueofa=1,b=2&c =
3 24 8 2
a+b+c=1+2+3=6 X=9 =3=23




1 3
267.(a) \/11-2@ —\/77_2\/5 -
4
V8-43
1 3

= JW6-VBF T W -V2r T

4
J204-243)

1 3
T Ve-y5 T 5-42

(Z)(5 +1)

1 3 2.2
TJe-J5 T 5-v2 T {341

Rationalising all the factors

fr - AP
2/2(V3-1)

3-1
“E+5-5- 7 - 6 +
3 =0

268.(b) 22+ 42+ 67 +....+40°= 11480
22(12+ 22+ 3%+....+ 20% =11480
11480

12423+ 37+, + 202 = —

= 2870

0.2x0.02x0.002x32
269.d) 0.4x0.04 x0.004x16

- 2x2x2x32 _ l _

4xqd=4x16 4

270.{a) Let the three consecutive
natural number is divisible by

three (HF1 4 itk WRpla® F&A
yafaafaa g)=x, x+3,x+6
ATQ

(TETIER )},

x+x+3+x+6=45

3x+9=45

3x =36

x=12 ;

Smallest number is 1%
271.(a) 12 + 32 + 52 ...+ Bag %

= (17+2%+ 32 4+ 42 4+, ".-',:}172]

—-{(22+47+, 62)
= {1?+22+32 +41"u¢- L+ 177

- 22(12 + 22 + % § 82)
usmg gwenddrmula

17 x18x35 8x9x17
=7 % Y e
= 1785 -4 x 204
= 1785 - 816 = 969
272. (a})

o F TR
94+J8 — VBT *+J7+/6
- J6-5 &
-@-@‘%3 &

[ *_3;+4 9x3"]

3n+2

_3ﬂ+2] 3n+2 (2)(32 _1)
3n+2 =

3!14-2

=[2x9_1)=

274. (d) Unit digit of 252'% + 2441
=4+4
=8
Hence the remainder (3d:

b)) =8

FREE OF COST

FREE OF COST
$0D 40 3334
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